APPED LO

> T UD Y CENTIRIRE
SOCRATES BATCH - MONTHLY TEST - JANUARY, 2024

1.  Assertion (A): Shade and water are not pleasant, (if) they cause disease
Reason (R): qualities of one's relations not agreeable, they cause pain.
a. A and R are true R is the correct explanation of A
b. A and R are true R is not the correct explanation of A
c. A true butR false
d. A false but R true
e. Answer not known
apm (A): Qb HHL Boid BoHn CHTwl GFulueieuTs SHhHTeL HLeTGal DG
snyenid (R): sBBsHoHTien HeTennsEHD HIGLD SHHOTEIE HLeiGal SiEGLD.
a. (A) wppw (R) s Gwsd (R) esiug (A) &g sfiwrer alenasongLb.
b. (A) wppid (R) afl ewemsd (R) eeiug (A) & aflwmer afendsnsen
c. (A) afl spemed (R) seum
d. (A) seup spemmed (R) &
e. aleL s flwalsvenev

2. Consider the following statements
1. Fear not foes who say they would cut like a sword
2. Fear the friendship of foes (who seemingly act) like relations.
a. 1 correct but 2 incorrect b. 1 incorrect but 2 correct
c. 1 and 2 correct d. 1 and 2 incorrect

e. answer not known

LNeiTeU(hHLD FnBmISHeneT LUIH

1. eaumememiGumed OeuefiLenL Wimem LMEBTHEG DiehIFGeuemngulsHe0enev.

2. o malaewyl Gurev @mbH 2 Lumad OsreiLeaufler QHTLTUSEG Diehd GCouewi(BLd
a. 1 af geme 2 sHeum b. 1 meum eyemed 2 &

c. 1 wBmb 2 & d. 1 @ 2 seum

e. alewL OFflwealedensv

3. Match the following

A. Government of India Act, 1919 1. Constituent assembly
B. Government of India Act, 1935 2. Partition of India
C. Indian Council Act, 1909 3. Separate Electorate
D. Mountbatten Plan 4. Provincial Autonomy
E. Cabinet Mission Plan, 1946 5. Dyarchy
A B C D E
a 5 4 3 2 1
b. 1 2 3 4 5
C. 5 4 1 2 3
d 4 5 2 3 1
e. Answer not known
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CUT(HSHIH:
A. @phFu opasF FULb, 1919
B. @bdw opass slLbd 1935

SIrlwied MiTemrul FenLl
@bHwl Liflealener

M NS

C, ®@bdu sae@dled gL, 1909 palld Os1GH
D. Guwememn GuiLer &L 1D LoT&TewT &ML &)
E. CaUi0e. &L, 1946 @y emLwim’ g
A B C D E
a. 5 4 3 2 1
b. 1 2 3 4 5
C. 5 4 1 2 3
d. 4 5 2 3 1
e. alenL G Mwalevenev
(a-by’+(b-c)’ +(c-a)’ _,
9(a-b) (b—c) (c—-a)
a. 1 b. % C. % d.0 e. alewL OxfNweaisoensv
Match the following;:
A. Newton 1. Radioactivity
B. Albert Einstein 2. Laws of planetary motion
C. Marie Curie 3. Laws of motion
D. Kepler 4. Relativity theory
A B C D
a. 1 3 4 2
b. 3 4 1 2
C. 2 1 3 4
d. 4 2 1 3
e. Answer not known
CUT(HSSHIH:
A. BPugl e 1. s flwssld
B. 60U’ geserdiesst 2. Gamensellal Quiss aldsel
C. Guofl &uyf 3. Qwds algsmern
D. QsLlien 4. Fpry grmiwed OsTeTensd
A B C D
a 1 3 4 2
b. 3 4 1 2
C. 2 1 3 4
d. 4 2 1 3
e. alemL OFfluwalsoensv

Consider the following statements regarding Sankaralinganar.

1. he belongs to Virudhunagar district.

2. he demanded name change of Madras state into Tamil Nadu.

3. he went on fast onto death in 1956 and passed away on 13t oct, 1956.
a. 1, 2 are correct b.1, 3 are correct c. 2, 3 are correct

d. all are correct e. Answer not known

gmisyedmsamT upslw Leeu(bD FnBBIbsemen SLITWaLD.

1. oluT alhabasmyF CaFihHeul.

2. ST WGHITeD OTHeVD 6Ty Quwieny SODBTH 66l GUWIT WIBBSHIBSL GumymgeITT.

3. ouT 195660 Fm@eueny o ewiewimalysl  CUIITLLHmd Hleudsad 13,  o1HGLTuT
OpHHr.
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10.

a. 1, 2 & b. 1, 3 & c. 2, 3 &
d. seaszid i e. alewL OFflwelsveneo

Choose the correct statement regarding Dada Saheb Phalke Award

1) 1st Awardee - Devika Rani - 1969

2) 52nd Awardee - Asha Parekh - 2020

3) 53rd Awardee - Waheeda Rehman - 2021

4) 45" Awardee - Sampooran Singh Kalra - 2013

a. 1,4 b.1,2,3 c.1,3,4
d. All of the above e. Answer not known

srer F18sl uteuBs allmal GP¥ss sflwmer sFmBpismen GxHiTs

1. a0 almg GuBpeuT - CxHalsm Fmewf - 1969

2. 52eugl al(pg GQuBBeuT - e LIGTS - 2020

3. S53euml alhd OuBBeT - aumadisT OFamoTer - 2021

4. 456uz l(mad OuBBeuT - Fbygewt Hm seogm - 2013

a. 1, 4 b. 1,2, 3 c. 1, 3, 4
d. @omer SimaTSHHID e. alew OaMwalsoensy

Which of the following statement(s) is true about the union territories of India?

1. From 26% Jan 2020, Dadra and Nagar Haveli and Daman and Diu are combined to a
single territory.

2. Articles 239 to 241 in Part VIII of the constitution deal with union territories

3. The two union territories from the former state of Jammu and Kashmir are Ladakh and
Jammu and Kashmir

4. The largest union territory of India is Andaman and Nicobar Islands

a. 1,2 and 3 are correct b. 1 and 3 are correct c. 2 and 4 are correct

d. 2, 3 and 4 are correct e. Answer not known

@g;ﬁturr@ﬂﬁm UL, 60TlULI 60T dg(%g)&rm(%ammu um@u_l Ledreu(mLd %mgnaamﬂm % 2 ewienn?
26 gevieufl 2020 (pHev HTHIT LOBEID BHTHTOBGES WLBBID LT LOBHBILD LU, Sh&éluiene
20y Gshawrs @ewenmtdalILL (BeiTerTer.

2. opflwevenwinier VI uggulsd o eitem 239 pgHed 241 euenyulleomen FTHHIH6n  ULeluies
LpBxhamise QHTLTLIT6TEN6!

3. (phemSHW LOTHeVTET (L BB STeHONIHHH o (Heuterr @gewi® uleiwer LIg6samiser,
6OLMES LOBMID MID(p OBMID STOJOT LG

4. @hgHwreler Wasluflw welwer LUFCsab SIbFLOTeT WBBID HISHCHTUNT &Heydbei

a. 1, 2 wppid 3 & b. 1 wBmpb 3 & c. 2 wwppid 4 &

d. 2, 3 wBpd 4 & e. alewL O fNwalevenso

x = 2.414 then the value of ( %()

x =2.414 eefled (X—%() &1 L&y
a.2 b. V2 c.4 d.8 e. alowL Gz MNuwalevemev

With reference to state re-organization commission, consider the following statements:
1. FazlAli, Kunzru are the only members of this commission.

2. It submitted its report in September 1955.

3. Itadvocated one language one state theory.

4. Tt identified linguistic and cultural homogeneity is important.

Which of the above statements is/are correct?

a.1land 2 only b.1,2 and 3 only c.2and 4 only
d.1,2and 4 only e. Answer not known
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11.

12.

13.

LOMH6V  LOBIFTEIOLIL] LMD GHMlHSH LlseU(hHD FnBBIsmeT SLU1H.

1. uged oY WLBBID G0 WL BHOL BdH@GHalear o mIileTase.

2. 56w SH SPdmBmul GFULLDUT 1955-60 FIOTLISHSSI.

3. @66W @ CTPSE @ LTH6EOWD 6Tl eUMFULIBISSBSI.

4. @z OCwmf oB@ID UEILTL( @5HH SHETMMU (PSBWILDTES aIedLBISHHISBSHI.

GuBamplw FmBpIseied Fflwrens/ e e1gl/ eTeneu?

a. 1 ppid 2wl B b. 1, 2 wBmyb 3 W GO C.2 BB 4 W @B
d. 1, 2 wpmd 4 W ED e el OFHfwelsveneo

Assertion [A]:Indian Constitution is a rationally deliberated moral document.
Reason [R]: Indian Constituent Assemble was a site where different interest groups debated
for a negotiated settlement.
a. [A]is true but [R] is false
b. [A]is false, [R] is true
c. Both [A] and [R] are true; and [R] is the correct explanation is [A].
d. Both [A] and [R] are true; but [R] is not the correct explanation of [A].
e. Answer not known
&Bo [A]l: ueSSHaLET aleuTHEaII L QT QUOEIEG WedB SLaleniC  Bbha ISy uIe0eIDIILF
FLLID oLGLD.
smewid  [R]: ueBoum SHSHMLW  GHUOSH6T nlgdh  Hebd MATHSHH SHHIBEHHSGT T
RULbHHHmSH 6l lgwl LB @bHw DFFuied SEDWLILEF FLWTEGLD.
a. [A] 2 _ewieni; syemed [R] Heums
b. [A] seoum; syemmed [R] 2 _eawieno
[A] wBmd [R] BrewiGBw &f; @idsi e [R] saiug [A] alBsrer gfwrer alendasom@Lb.
. [A] wBpib [R] @reui@Guw &M; eyenmed [R] etetiugl [A] elparer sfwmer aflenbsorsmg.
e. alemL Ogfwalsdeneo

Q. n

By which amendment, the associate status of Sikkim was abolished and made her a full-
fledged state (no.22) of the Indian Union?

a. 35th Amendment b. 34" Amendment c. 36t Amendment

d. 37th Amendment e. Answer not known

abs  ofwevml] HHEHHHHST cpevld, FHHHID-GT Bewewt  SbHe0H  @UGBHILLG, ObHu
RSMIWSHFHeT 226U H (PP LOTHIGVOTS  LOTHBBIWLIENLOSSILIL L HI?

a. 35auz odlwevemiolil] HmSHD  b. 34euzs Sfuweoemioiiy HmHHD
C. 36aua Sfwevenioli] Hmebsd d. 376ug Ddluieveniolil] S s D
e. alemL G flwailsvenso

Match the following:

Match correctly the borrowings to Indian Constitution from other countries:

A. Parliamentary Democracy 1. USA

B. Fundamental Rights 2. UK

C. Directive Principles of State Policy 3. Canada

D. Federation 4. Ireland
A B C D

a 3 4 1 2

b 2 4 1 3

c 4 2 1 3

d. 2 1 4 3

e. Answer not known

SIPBHEMIL BB CLUIT(HHSHIH:
LIBBThsaledhbhal BhHu DdweosmwliiBg GuBlUL Laupenp Fllwmsl QUTHHSHIS:
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A. UTITEBLOGTB (LPeDX  LOSHSHENTTL & 1. &6wfosT

B. 9griuen. o flenioseit 2. BRIF6e0MhH)

C. opa Gpplpenpd CamumBasel 3. &L

D. salLm & 4. SWITEVTHS)
A B C D

a. 3 4 1 2

b. 2 4 1 3

C. 4 2 1 3

d. 2 1 4 3

e. allenL  Ggfwalsdenev

14. If a2+ b? =117 and ab = 54; find the value of ZH;

a2+ b2=117 wmmb ab = 54 eaied a—”; &1 AN

a.6 b. 4 c.5 d.2 e. alen OxMNuweaisoensv
15.  Match correctly the physical quantities with their SI units.
A. Pressure 1. Nm
B. Area 2. Nm-2
C. Surface Tension 3.N
D. Force 4. m2
A B C D
a. 1 4 2 3
b. 3 1 4 2
C. 2 4 1 3
d. 4 2 3 1

e. Answer not known
BuBLlwed Siemalsmen BigHal SI oG sEpL 6T FRWTSL CUT(HhHSHIH:

A. 91pHHID 1. Nm

B. gty 2. Nm2

C. upiiy ®apaiens 3.N

D. alens 4. m?2
A B C D

a. 1 4 2 3

b. 3 1 4 2

C. 2 4 1 3

d. 4 2 3 1

e. alewL OFflwealedensv

16.  Arrange in chronological order
1. TN Planning Commission.
2. Slum Clearance Board.
3. Report of Rajamannar Commission

4. SIPCOT.

a.2-3-1-4 b.2-1-3-4 c.3-2-1-4
d4-1-3-2 e. Answer not known
BTevelTemFLILIBHSHHIH.

. sOPETE FLsGW

2. GYenFoTBm eumfluib

3. JTRWSISIT &L DISHmP
4. Sust (SIPCOT)
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a.2-3-1-4 b.2-1-3-4 c.3-2-1-4
d.4-1-3-2 e. alew OFflwalevensv
17.  Consider the following statements.
L. Justice party won 63 seats in 1920 provincial election.
I1. P. Thiyagarayar become first chief minister of Madras Province.
II.  K.V.Reddy and Raja of Panagal were part of justice party’s first Cabinet.
a. I alone is correct b. I, II are correct c. I, III are correct
d. III alone is correct e. Answer not known
LNevTeu(hHeUaTeUBemM  Her6TbHALD.
L. 1920-60 BewLGQUBB wreTew BHTHelled BHHEH F 63 B misamenl CLUBBEI.

II. QF TN LOTHTEMHH T (LPHEO (LPSHEVENDFFINS LI.HWmaImwT LHalGuiBm.

. Gas.al. Oyl wLBBID USRS DPFT HACWTT BHSS FAUIST (PDHeL SIMOFFTMEUUTED
SIRIBLD P SHSHETT.

a. I @b &M b. L II &M c. LI &f

d. I wc @b g e. alowL  GaMuwalevemev

18.  Choose correct statement regarding AVYAY scheme.
1) AVYAY - Atal Vayo Abhyoday Yojana
2) AVYAY - Ministry of Finance
3) Scheme to improve the quality of life of senior citizens
4) Rastriya Vayoshri Yojana is a component of AVYAY.
a.2,4 b. 2 alone c.1,3,4
d. None of the above e. Answer not known
AVYAY gL gfss silwrear sgapplomearsCsits
1. AVYAY - ore0 aBur oulGungul &L ib
2. AVYAY - B8 siemwFgsid
3. WwFHCwnitseller auTDbmEH SHIHMS 2 WITHSHID HIL LD
4. grengdflw euCuimerdf Guimeentm sieiiugl AVYAY BeT @b SIBISLONGLD.
a.2,4 b.2 w G c.1,3,4
d. @mea gsIdevamev e. alowL O MNuwelsdamen

19.  Choose incorrect pair

1. Jothy Yarraji - Hurdle

2. Avinash Sable - Steeplechase

3. Tajinderpal Toor - Shotput

4. Praveen Chitravel - Triple Jump

a.1,2 b.3,4 c.1,2,3,4 d.Noneof these e. Answer not known
SHAUBTET SNl SHTEmIH

1. Gxrgl wmigme) - SHOL SHTewIHFH60

2. olamad FmiGer- erdlelfeT@Ferd

3. CoadbaT BT - Fmiyl

4. Uyeier £gxrGeue0 - Lffe gg1bls

a. 1,2 b.3,4 c.1,2,3,4 d @gma gaifeoeme e. el O Muialsoamnen

20.  Assertion (A): Though able to win, let not one desire gambling
Reason (R): Gamblers gain one item in the gamble and lose a hundred times as much
A and R are true R is the correct explanation of A
A and R are true R is not the correct explanation of A
A true but R false
A false but R true
Answer not known
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21.

22.

23.

24.

aBm (A): CeuBGWw CUEBIISTETILD GHTLSHMS al(hoLS FnlTH

sngenid (R): @omgser &Hed @b GQUImheT OUBBI HIBIOLEEG GUTHMeT SLboHielHeuT
a. (A) wpp (R) sf Gwsaib (R) eeg (A) &g sfiwrer alenssomgLlb.

b. (A) wpmpd (R) sf semed (R) eteiugy (A) &@ sflwumer alendsiosden

c. (A) sup syemmed (R) &

d. (A) wBpw (R) GrewiGL Heus

e. alewL Ggflualsvenso

Match the following

A. Steering Committee 1. Usha Nathsen

B. Press Gallery Committee 2. Rajendra Prasad

C. Committee on Chief Commissioner Provinces 3. GV Mavlankar

D. Committee on functions of Constituent Assembly 4. B Pattabhi Sitaramayya
A B C D

a. 4 1 3 2

b. 2 1 4 3

C. 1 3 4 2

d. 3 1 4 2

e. Answer not known

CUT(HSSHIS.

A. s BHe0 G 1. 2 a9 BHIHOF6ET

B. Qsuigwment wems &1 2. @by Lgams

C. HmeuemD SLEHHBIT LOTHTERIBIBET (G)(LD 3. GV iomeieomist

D. opdlwed mitemi genuuier Lenfldser @ 4. B. ulLmi Fsmyrenowi.
A B C D

a. 4 1 S 2

b. 2 1 4 3

C. 1 3 4 2

d. 3 1 4 2

e. alewL Gafweaisvenev

Which of the following is correct:

1. Force = mass x velocity 2. Acceleration = velocity / time

3. Work = Force x displacement 4. Power = work / time

a.1,2and 3 b.1,3and 4 c.2,3and 4

d.1,2and 4 e. Answer not known

B aumHeuaTUBBleL eTemeu &l

1 aleng = @BHop X HgBGaismid 2. ph&EsDd = HanagGeusd / BHTevld

3. Gouemev = aleng X @ LQUWITFS 4. Hmer = Gouemev / BHM6vID

a.1,2 wpgw 3 b.1,3 wBpi 4 c.2,3 wiypb 4

d.1,2 wpgi 4 e. alewL OQFHflweaisvenev

2p+3q=18;2p-q=2then2p+q="?

2p +3q =18 wBmib 2p-q =2 e&fed 2p + q 61 WHLIL

a. 6 b.7 c. 10 d. 20 e. alewL OxfNweaisoensv

Arrange is chronological order.

1. P. Subbarayan 2. K.V. Reddy Naidu

3. Ramakrishna Ranga Rao 4. Raja of Panagal

5. P.T. Rajan
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25.

26.

27.

28.

a.4,3,1,52 b.3,4,1,2,5 c.4,1,3,52

d.4,1,3,2,5 e. Answer not known

LelTeu(mHeussieuBenms  STeveuflengILBHBHALD.

1. P. sstiugmuwiest 2.KV. Qrly pmuy® 3. @ymod([heagent JRIGTIT6I
4. LeTBIB6ED S|JST. 5. P.T. gmegent

a.4,3,1,5,2 b.3,4,1,2,5 c.4,1,3,5,2
d.4,1,3,2,5 e. alowL  GaMuwalevemev

Choose the correct statements

L Periyar started kudiyarasu magazine in May 2, 1925.

II. Kudiyarasu was the official newspaper of Self Respect Movement.
a. I only b. II only c. BothTand I

d. None e. Answer not known

gflwrenr smppisamend GHiTe

1. Quflwr® G 2, 1925-60 GRWITEH BDHMPSH OCGHTL I GITT.

2. Guwrs @swraig swoflummsd BuisssHHar DIHSTILLT CFUISHSHSHTerT
a. 1 @ b. 2 ol Bid C. Byewi(B

d. @remiGiieoenev €. alewl GFMuwaisoenso

Arrange in chronological order.

Trichy Tamil Conference.

Kanchipuram Anti Hindi Conference.

Dravida Nadu Demand

Black Shirt Conference

. Vidhuthalai Magazine

a.2,1,3,4,5 b.5,2,1,3,4 c.51,23,4
d.1,5,2,3,4 e. Answer not known

LTedTeu(heuaieuBenm  STevaUTNmaILBSHSHIS.

HphFd D 0TI

2. &1ehdlygb @bhal ey wrmT®

3. gpmalL BTE Casrhodma

4. H(HEhFLeML LOMHBT(H
5
a

A

—_

alppemev LSHHNEHmeB
.2,1,3,4,5 b.5,2,1,3,4 c.51,23,4
d.1,52,3,4 e. el GaMualevemev

Choose correct statement

1. India recently constituted National Turmeric Board

2. Largest producing states are Maharashtra, Telangana, Karnataka and Tamil Nadu.

3. India has more than 62% share of world trade in Turmeric.

a. 1,2 b.1,3 c.2,3 d.1,23 e. Answer not known

gilwmen amppisenen CaHiTa

1. @bsdwr FBusHd CarAw eEhFeT aumflubmd SHDIDSHBHSHI

2. STITOHQIT, OHEVRIGBTEIT, SHIBTL ST BBID SHOWHTH pFuimel DHS 2 BuHd  GFuiujb

LD 6VMISH6IT.
3. weEhgalled © s afHHHHH0 BHAWT 62% URIDBS BTGNS
a.1,2 b.1,3 c.2,3 d.1,23 e. alowL O fNuelsvensn

The value of é—(_—?’j +[_—5—@} is
3 2 3 12

3w
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29.

30.

31.

a. 1= b. — c. % d — e. alowL  GaMuialevemev

Choose the correct statements

I. The Twelfth Schedule of the Indian Constitution has 18 matters related to
Municipalities

II. The Eleventh Schedule of the Indian Constitution has 29 matters related to Panchayats

I1I. The Seventh Schedule of the Indian Constitution has the laws related to land reforms

IV.  The fourth Schedule of the Indian Constitution includes the provisions relating to the
administration of schedule areas in the states of Assam, Meghalaya, Tripura and

Mizoram

a. L II, IV only b. L, I1I, only c. I, Il only

d. All of these e. Answer not known

gflwnensd gBBISM6Nd SHTeNIS

L. BbHw DFFuieoenoliNer LTl Q6w Tougl i L eueneiTedh HBITL Heer OFHTLiTumer 18
SHLGUTHL_Hener  OBTewI(H6iT6N I

I1. @b oFAweoamliie LHCMTHIBIS S LAIMEIUTAIS LEhFTLSSISSE OgTLTUTET

29 &SHUGUTHL Sener CHTewI(H6T6NG)

IIl. @bdw Swdweomlilsr gTagh DI L eUMRILTRISH  HeoFETHHHHSMIB6NT  CHTLTLITeT
FLLMBISm6T CBmemiheiengl

IV. BbhAW  DFWeOMOLILNGT  BHTETHTOUSH DI L eUeneTTerdl  Sjeroeromd, Gasmeowr,  &ifiuygm
wBpib  WGsmID  Fwl  THlevm&eTe0 o 6ifen  LILIQUIRILLILLL LG selar  HiTeursld
OTLTUTET UM UIMISMmeNT CETemI(BH6iTeNng

a.L IL IV w @ b. I, III, o (b c. I, IT o @

d. Bmeu SimaTSHHID e. alewL OxfNweaisbensv

Choose incorrect statement regarding All India Women’s conference AIWC.

1. AIWC was established in 1927.

2. Second Conference of AIWC was held in Delhi in 1928.

3. AIWC celebrated March 1, 1930 as women'’s day.

a. 1,2 b.1,3 c.2,3 d. None of these e. Answer not known
(AIWCO) gmeandFhdHul QUemtasT THTL ML QUTBISSI HOUBTET FnBnIbSM6T SLITUIOLD.
1. AIWC Osmmsiu’ g 19276v.

2. AIWC et @yewiLmeugl omprG 1928 GLeveiulled HenL OUBBEI.

3. AIWC, g 1, 1930 g3 QUemideT HMDTHDS OBTEILTIQUIS).

a. 1,2 b.1,3 c.2,3 d. eigiafievenev e. alowL OFflwalevensv

Match the following

A. Seneriehit 1. Pagaivar

B. ysBmei 2. Vanavar

C. omey 3. Vidudhal

D. guunf 4. Nanbar
A B C D

a. 2 1 4 3

b. 1 3 4 2

C. 4 2 3 1

d. 4 1 3 2

CUT(HSHIS

A. daneriehiT 1. LemGBaT

B. ysG8gpeit 2. eI

C. @umey 3. al@sed

D. g@Uuinf 4. BT
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32.  “For one, his greatness is in his character’ - Find out the Kural which conveys the above

=N
—_ N W RO
W WA
N RN

meaning

a.

b.

d.

e.

All men that live are one in circumstances of birth;

Diversities of works give each his special worth.

The men of lofty line, whose souls are mean, are never great
The men of lowly birth, when high of soul, are not of low estate.
Like single-hearted women, greatness too,

Exists while to itself is true.

The man endowed with greatness true,

Rare deeds in perfect wise will do.

Answer not known

RBHAUBSGL CLHMD GHMISHSHTEL UL - BHMBES OUTHSILOTET GBemen BHTHOHHEHS.

a.
b.
C.

d.

e.

IBLIOUTSGLD 6Teveum o ufiTé@ FpLibLmeieur
CFWICETHe0 GeumBmienio wimes

GelmHpHHID BGLoeusvevTT GLO6VELEVT SLOIHHSHID
&BIPGLGVITT &IP6L GG

QB 1&H6MGy Gumevll GLIHEMLOUJLD
SN SH BT BTG MLl 2 6ui(h
OLIHEMLD  WemLWIGUT SLBMIGUTT  Si35l60t
S(HWID 2 6oL Ul OFuled

allenL  Ggflwalsveney

33.  What is half of 210?
210860 Lng elelau6Ta)?
a. 25 b. 26 c. 29 d. 28 e. alewL G MNuwealsvemsv

34. Match the following

A.PartV 1. Tribunals

B. Part VIII 2. Official language

C. Part XVII 3. The union government

D. Part XVIII 4. The union territories

E. Part XIV-A 5. Emergency provision
A B C D E

a. 3 4 5 2 1

b. 4 5 2 3 1

C. 1 4 5 2 3

d. 3 4 2 5 1

e. Answer not known

CUT(HSHIH:

A. ugd V 1. STOuTWImIS6T

B. ugg VII 2. 9IVeI60s  GIomifl

C. uggd XVII 3. QMW SOIFFTHISLD

D. ugg XVIII 4. geiw S AliLG S sel

E. ugg XIV-A 5. SIUFTHT6D SIDFBIB6I

10 | Page

PH: 044 - 24339436, 42867555, 9840226187




W Wy
B 01 g
N TN Ul
TGN ®NY
=W =

a
b.
C.
d.
e. alemL Oz flwailsvenso
35.  What happens in human Thalassemia?

1. Reduce - « - globin synthesis

2. Reduce f- globin synthesis

3. Enhance ¢ and f - globin synthesis

a. 1 alone correct b. 2 alone correct c. 1 and 2 are correct

d. 3 alone correct e. Answer not known

SeoFOwm CrTUl o _6iTemalTaEndh@ elemel HenL GLNISBSI?

1. a- &Gemmier o (hauTeugdl &mBHELILIGSBSI

2. B - &Gl o (heuTeugdl &HMBEHBLILGSBSI

3. a- wBpb B- &Gemier 2 (heuteug SiFHsMbsILBSBS

a. 1 w @B g b.2 w' @ & c. 1 wBmib 2 w G gi

d. 3 w @b & e. alewL OFHflwelsveneo

36. Match the following
A. Food and water 1. Fomite — Borne transmission
B. Mosquitos & Houseflies 2. Air - Borne transmission
C. Clothes & Syringes 3. Vehicle - Borne transmission
D. Droplets & Dust 4. Vector - Borne transmission
Choose the correct answer

A B C

3 1 2

3 4 2

3 4 1

4 3 1

e. Answer not known

CUITHSHHIS.

anop
NN = AT

A.2_ewia] LOBMID HevteufT 1. Qa1hH QUTHET Ul HLSHHeo
B. OQ&rs wBpid 2. &aMBB o HLSHHIHEL
C. siowi oBpid g 3. A, Hyau FTHEID ol SLSHHIH60
D. a&dled (o1) geigefll wBpid grd 4. aLHH aufl BLHBHH60
A B C D
a 3 1 2 4
b. 3 4 2 1
C. 3 4 1 2
d 4 3 1 2
e. alewL OFflwealedensv

37.  Choose correct statement regarding Madras United League.
1. Madras United League was established in 1912. (MUL)
2. It was renamed as Madras Dravidian Association in 1912.
3. First Secretary is C-Natesanar.
4. It is the pre cursor of Justice party.
b.1,3,4 c.2,4
L4 e. Answer not known
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38.

39.

40.

41.

waITed MEHw grsHmad (MUL) QuUipiSa Filwmer gnBpisbsemen Sreunrs.
1. FHITed MeHUW FhSD 191260 OHTLBISILLL .

2. B3 wHyTed HyTell FHSWD 6 191260 QUWIT LOTBBUILLL GI.

3. (w&Hev OFwevrent F.HGLFeIT.

4. @z pHsalAular (wearBarmy ereinl SDIMPSHBILGH MBS

a.1,2,3 b.1,3,4 c.2,4
d.1,23,4 e. alewL OFfwalevensv
If 2 2B _Cthen 3+P*Cs equal to
3 4 7 c
3 4 7 c
a.7 b.2 c. % d. % e. alewL O MNualsvamen
What are the five pillars on which perfect goodness rests?
1. Affection 2. Fear 3. Benevolence 4. Favour 5. veracity
a.1,2,5 b.1,2,4 c.1,2,3 d.1,2,3,4,5 e. Answer not known
g6V 6IIEMID LIMISHNS SRS HTGHIH6T 6len6u?
1. o6ty 2. [BTewILD 3. @LUTey 4. FHewtGedmLl L LD 5. eumulemnLp
a.1,2,5 b.1,2,4 c.1,2,3 d.1,2,3,4,5 e. alewL Oz MNuwelsvemnen

Which of the followings are identified as isobars?

i. 18Ar40 ii. 17CI35 iii. 20Ca%0 iv. 17CI37

a. (i) and (iii) b. (ii) and (iv) c. (iii) and (iv)

d. (i) and (ii) e. Answer not known

SpSBTeiLIUBBI6T 6Tenel GFTUMTHENT 6IaILNS DIGHLWIT6NLD HTewis?

i. 18Ar40 ii. 17CI35 iii. 20Ca%0 iv. 17CI%7
a. (i) wBpib (iii) b. (ii) wpmid (iv) c. (iii) ppb (iv)
d. (i) wpmid (ii) e. alewL OFHMNwealsdensv

Match the following and choose the correct option:

A. Analgesic 1. Paracetamol
B. Antipyretic 2. Penicillin
C. Antiseptic 3. Novalgin
D. Antibiotic 4. Jodoforn
A B C D
a. 3 1 2 4
b. 2 1 3 4
C. 3 1 4 2
d. 1 3 4 2

e. Answer not known
SpHMILeuBenBll GUTHHFH shwnareuBeanpd CoHTHOSHM.

A. aued meumyemni 1. umgmdLmed

B. &1 mleumyewi 2. GQuefdledesr

C. yemy HGLILITEST 3. GBTeuTevsg=est

D. miewtgmiuilit e1g5 4. 9IGwmGLmum.".fb
A B C D

a. 3 1 2 4

b. 2 1 3 4

C. 3 1 4 2

d. 1 3 4 2

e. alewL OFflweaiedensv
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42.

43.

44.

45.

46.

Choose the correct statement regarding My Bharat Scheme
1. Launched on October 31, 2023
2. Objective: Youth in Nation building process

a. 1 alone b. 2 alone c.Both1 &2

d. Neither 1 nor 2 e. Answer not known

6legh UMISD FH L GBiss giwumel gmpploneards GHiTs

1. o156LmuT 31, 2023 o CaHmBmieNsslul L g

2. Guréald: ChF 2 (HeuTdhsHHe0 EeN6NEhTH6N

a. 1 wl@w b. 2 w' @ c. 1 wpmid 2
d. ByewIG 966V e. alowL O MNuealsdamen

The difference between 90% of a number and 72% of a number is 256. then 54% of that
number is

@ eewewier 90% wBmd £6% eewiewier 72% epFweuppier ealsHwmFd 256 el 9I8H
orexstewilent 54% elavILIG 6T6sTe0T?

a. 768 b. 652 c.1024d. 512 e. alew. Qg flwiaievensv

42nd Amendment Act 1976- inserted

i. Socialist ii. Secular iii. Integrity

a. (i) only b. (ii) only c. (i) and (iii) only

d. (i), (ii), (iii) only e. Answer not known

D261z HHSHHF FLLID - 1976 BevenisHSHIl

1. FLOHTD ii. gww grruBps 1. BIL196T @HELOLILITH

a. (i) wi@w b. (ii) o (b c. (i) wBmib (i) L G
d. (i), (ii), (iii) wLGw e. allenL OFfweleoensv

Choose the correct statements about the Preamble of the Constitution

1. The objective resolution proposed by Pt. Nehru ultimately became the Preamble.
2. Itis not justiciable in nature.

3. It cannot be amended.

4. Tt cannot override the specific provisions of the Constitution.

a. 1,2 only b.1, 2, 4 only c.1,2,3 only

d. 2,3, 4 only e. Answer not known
SIrlwevemioliLielr (PpSLILenTUNe SigliLienL ufled ST FnBBISeneT SIS

1. Gpm werCwmfihs @GBlsCamer &iTomeaGL @npIFuled (WSLILETUITEISI

2. B85 apsHE aThds BueuTdh Heend 6lsTemiL gl

3. 8w HHHHD CFuiwrpuiTg

4. Bz SpFweosnoliiler 6bhd @ GUEUILL gpisemenubd LBHHelds Suleong
a. 1, 2 w' @ b. 1, 2, 4 w @G

c. 1, 2, 3 w (B d. 2, 3, 4 w @Bw e. el xpfualsbensy

Assertion (A): The 42nd Constitution Amendment has been referred to as the ‘mini
constitution’.

Reason (R): It was the bulkiest and most comprehensive amendment.

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true and R is not the correct explanation of A

c. Ais true but R is false

d. Aisfalse bur R is true

e. Answer not known

FBm (A): 426z SITFMLOLILSH HHSHHF FLULID Qb ‘@l SIFFenLoriL] 6TeuT 3
GUBILUILLILGSBS.

aryenid (R): oigswoner aldsmen QBTami(h @HBISmeIbHILULL  HHHHF FLULID
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47.

48.

49.

50.

51.

a. MU, HTFeWID FHWTAINEIBET DLGLD. HTTEOID FnBEBISHTET FHWITET all6mehaHmEGLD.

b. gBupibd sSTyewI(pd FALTHIMOUBNTGHID. LT HTJeRID FnBens Flums alerobsaleiemev.
C. Smmm g Semed SMJewild Heumsl

d. By sHeup Semed Sryewid il

e. alewL Ggflualsvenso

The Ninth Schedule of Indian Constitution was added via the:

a. 24th Amendment Act b. 52nd Amendment Act

c. 61st Amendment Act d. 1st Amendment Act

e. Answer not known

bW DFFweenolIled PETLISTOUSHI SIL L 6UEN6T 61H60T CLPeOLD BenentdhaLILIL L SI7?
a. 24-eugl FLLHHSSHD b. 52-augl gL SHHSHHD

C. 6l-aul FLULHHSHHID d. l-eug LSS HSHID

e. alemL O flwailsenso

Which is the source of social, economic and political justice included in the Preamble of the
Indian Constitution?

a. American Constitution b. Canadian Constitution

c. Russian Revolution of 1917 d. French Revolution of 1789

O SFweoemoliie (WeHea emTulled SILMmISlU|eTen Fewpd, OLUTHEMTST] LOBHILD SIFSuied BHXluledr
BT 6117

a. 9owféss SFFluweventoli] b. sangu ofuteventoriy]

C. 1917-&%1 gaduit Lyl & d. 1789-a51 L9GyEha1 LyyL &

e. alenL  Gaflwalsvenev

The population of a village is 900. 15% of them are children, 40% of them are women. Then,
the ratio of men: women : children is

R BTsHHed o _eten GTHSH WwHHen QFHTens 900. @iHev 15% Gwbmaser, 40% CuUewIH6IT
61660 SLeWIH6IT, CLETTISET, GLHmBHH6M6T allSHLD 616360 ?

a.9:7:4 b.9:8:3 c.7:9:4

d.8:9:3 e. alowL  GaMuialevemev

The following resolutions for women'’s liberation were passed

The marriage age for women should be 16. (14 was the rule at this time),
Rights for divorce,

Rights for remarriage,

Only women to be appointed as teachers. This was in

a. 1938 women’s Conference

b. 1929 Self-respect Conference

c. 1931 Self-respect Conference

d. Lalgudi Self Respect Conference

e. Answer not known

Quemisefenr Hpwewiauwid 16 5 EOHESCaemiBD (SieedmBul FULLUY 16) SHmoen  allevdE
o flemo, wmiwewt o Mfeww, SFflw vewidEd OuewideT WU GO BuwddasiiuL Ceuewi(ld  6levTLI6H
Gunei CuewiaIfleniog SiTonamigemen (WHeled HlenpGoumpiw WwIETEG 6157

a. 1938 Guexiseir WOTHTH b. 1929 swiofwmens WIHTH

c. 1931 swiwofwrens wIHTH d. eumev@lg Swifwimend LOTHTH

e. alewL OFflweaiedensv

The backward class leader who participated in the First Self Respect Conference was
a. Dr. Ambedkar b. Ayothi Das Pandithar

c. Rettaimalai Srinivasan d. Sami Sahajananda

e. Answer not known
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52.

53.

54.

55.

56.

WPHeL SWIfwmend MBI I1960 H6UbHEH QBT LIBUGSSLILLL aUGLIDUF FThHEH HEWeVUT WMT?
a. Lm&LT oIbGUGHaIT b. 9BGwrsHETed LETIYHT

C. QlenLLoeney FevlleuTa 6ot d. smfl FeTeThHT

e. alewL OQFflwaisvensv

When Siddha institute of research was started in Chennai on the memory of Ayothidasar?
a. 31 September, 2005 b. 3rd September, 2006 c. 5th September, 2005

d. 5th September, 2006 e. Answer not known

SBwTHHFTaflen Henaioutd OFarmeruled FHH mausHIHUW Uie] MWD HBhHS meudbLIUL L
eTIEUTRSI?

a. OauLwbur 3, 2005 b. @aii_ibuir 3, 2006 C. @guLbur 5, 2005

d. Qglbuf 5, 2006 e. alewL Oafuwealsdensv

Choose the wrong statement regarding Vaikundha Swamigal.
a. He started Samathuva Sangam.

b. He set up a common well in Swamithoppu.

c. His movement focussed on social equality.

d. He supported conversion to Buddhism.

e. Answer not known

mUGHSH GFeuTilEeT LUBBIW SHeUBTET SnBenBe: SIS

a. Qe FH N FhSBHMSH GHLBHHGITT

b. smflg Gamiied QuITFHisHewin o (heumdbd QBTBHBTT

C. Baurgl BUWSHED Fepd FLOSHIHIHMSB MOWILDTHS 6T H
d. Qaill UHs LIOIBBSMS DSNHSI

e. alewL Gafwealsvenso

National Commission on Farmers in 2004 was set up under

a. Manmohan Singh b. M.S. Swaminathan c. C. Rangarajan
d. M.K Narayan e. Answer not known

200484D Sy aleusmuilsendsrear CHFU DLEnemTUID WTHMLU HeNeVMLOUNED DIeNLOSBLILILL GI?
a. eGrHer Fmi b. M.S. seumdbrgest c. C. ®ymisymeges
d. M.K. prgmuiesst e. alowL O fNuelsvensv

Choose incorrect pair

1. October 7 - World Cotton Day

2. October 7 - Nilgiri Tahr Day

3. August?7 - Javelin Day

4. August?7 - National Handloom Day

a.1,2,3 b.2,3,4 c.1,23,4

d. None of these e. Answer not known

SHAUBTET SenenTenlh SHT6ENIH

1. o&C8Lmuf 7 - 2 & UMHSHSH Hled

2. o&08Lmuf 7 - BeLaIfl euemywT® Hleord

3. oi@el 7- FLIg 6lfHed Hled

4. @l 7- Chdw maHHHB SHleuid

a.1,2,3 b.2,3,4 c.1,2,3,4
d. @ gsIevamen e. el OFHfNuwaIedmev

Choose incorrect pair

a. Operation Ajay - Israel
b. Operation Cauvery - Sudan
c. Operation Ganga - Ukraine

d. None of these
e. Answer not known
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57.

58.

59.

60.

61.

62.

SHAUBTET EeNenTenUISH SHTEmIH

a. 9Brage oMUl - ®er0Brev
b. ouByager smGeufl - @pLTeor
C. oLIGrager SmIST - o SHenen

d. 8mar gaidlevenev
e. alewL Ggflualsvenso

There are 560 students in a school. Out of 560 students, 320 are boys. Find the percentage of

girls in that school.
R  eu@lied 560 omewied, LoTewIaldeT © effeniedit. 560 Gufled 320  omewIeuTH6T  6T6vf60
renialsefer FHaishd

a.41.83% b. 42.24% c. 57 17 %
d. 42.86% e. alenL  Gafwealsvemsv

What is the expansion of BMR?

a. Body Mass Rate b. Basal Metabolic Rate
c. Body Metabolic Ratio d. Bone Mass Ratio

e. Answer not known

BMR eaug alfleurésd wmg?

a. Body Mass Rate b. Basal Metabolic Rate
c. Body Metabolic Ratio d. Bone Mass Ratio

e. alemL OFfluwalsdensv

Which of the following material is used to make control rods in a nuclear reactor?

a. Sodium b. Cadmium c. Potassium

d. Iron e. Answer not known

Ueleubd  SHelomidselled, @b Djemibasmh 2 emeoullsd s BUUTL(GS SHemiBsen QFUILIIUWGTLIGIS]
61gH!?

a. Gamguub b. sm uwib C. Gum’Lmfluib
d. ®miby e. alemL O Mwalevenso

Pick out the mismatch of the followings

a. SARS - Lungs

b. AIDS - Immunity

c. ELISA - Diagnosis

d. MALT - Oncogenes

e. Answer not known
BSOS BT aUBSIEL HEUBTET EenemnTenll SHewIL 5.

a. SARS - HIeNTUTy6e0

b. AIDS - Grmul eI FHH
c. ELISA - GBTul &6t 5l &60
d. MALT - UBIGHTUI 23656l

e. alewL OFflweaiedensv

How many chapters are there in virtue?

a. 36 b. 37 c. 38 d. 39 e. Answer not known
SIBSHHIILTE060 2 66 DIFHEBTImIS66T 6TenTenldemnd?
a. 36 b. 37 c. 38 d. 39 e. alewL OxfNweaisdensv

How many chapters are there in Payiram?
a.3 b. 4 c.5 d.6 e. Answer not known
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63.

64.

65.

66.

uruiysaled o eiten SiFHETIRIS6T6T  6TevT60NHMmB
a.3 b. 4 c.5 d. 6 e. alewL OxfNweaisoensv

“The Right of Citizenship cannot be taken away from a citizen except through an express
Parliamentary Legislation”. This is related to

a. Ebrahim Wazir V State of Bombay Case

b. Hukam Singh V State of Punjab Case

c. M.C. Mehta V Union of India Case

d. Ramachandra V Union of India Case

e. Answer not known

“@ueurgl Glouflenenul BTLTEHLEBEF FUL S cpeoBuowiemd Gouml aumaulled Lpoass Fnlmg’”.
DEFBHI THEIL 6T OHTLTLDL WGHI?

a. @ugnadd eudT V. ubumll o8 eups@

b. améad fim V uehaml opa aupds

C. a1b.&.CwHsT V @hHu gemdud aupshE

d. gmo&apdyr V. @hSHuw @emiiuwid eupds

e. allenL  Gaflwalsvenev

Who wrote the book “The Indian Constitution, Corner stone of a Nation”?

a. Granville Austin b. K.C. Wheare c. Paul Appleby
d. Harold Laski e. Answer not knwon

“@haw SFflwevenoliL]: CHFHH6T (LPeMEVDHDHEL” 6T6TB HITENEL 6I(LDSHILIGUT WITT?

a. dymeialed &LeErvIQes b. K.C. allwir C. UTed Syl eiTenL
d. Gamymed® evmervd e. alewL Oafuielsdensv

Commonwealth citizenship provided by citizenship Act (1955) was repealed by
a. Citizenship (amendment) Act 2005

b. Citizenship (Amendment) Act 2003

c. Citizenship (Amendment) Act 2013

d. citizenship (Amendment) Act 2015

e. Answer not known

(BTDaT06UeVS) CuTgis  Guyfleny 1955 ouemih  Guuwflenwd FULsHFHar S  CBTHHSIULL .
SPHOBTHHSIEN6T 6hFH FLLH HHHSHHH LIy DiFH BHHBLILLLGI?

a. guflewws gL FHmssd wWGFTEHT 2005

b. syuiows giLsh HmsHs wWeFTaT 2003

c. guyuflewws slLsd FHmsHs wWEFTHT 2013

d. euuiows FiLdh Hmss wWEFTHT 2015

e. alewL Gafwealsvenso

Match the following
A. Social equality 1. No discrimination based on caste or creed
B. Civil equality 2. Right to vote
C. Political equality 3. Equal rights for men and women
D. Gender equality 4. Equal status in society
A B C D
a 1 4 2 3
b. 1 2 4 3
c. 2 1 4 3
d 4 1 2 3
e. Answer not known
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67.

68.

69.

CUT(HSHIB.

A. gFepd FoGHBHIAID 1. g18), s D uUTGUTH E6Tenio
B. @y FwdHzieubd 2. UTHSH6MBGD 2 Menip
C. apdlwued FogHziaIbd 3. SLWIBEHHHID CUMIBEHHGID FID 2 _fenp
D. uredler Foggiaud 4. FUPBHH0 FID DHBHNVSHI
A B C D
a 1 4 2 3
b. 1 2 4 3
C. 2 1 4 3
d 4 1 2 3
e. alemL Gafwealsdenso

When a number is decreased by 25% it becomes 120. Find the number.
@ erewtenllesn WFHIML 25% GHmBHHTev 120 HenL oMl 6Tafled, Db 6IRINEMIDH HTCUIS.

a. 180 b. 170 c. 160 d. 150 e. el GaMuwalevemev
Ways of Acquisition of citizenship
A. Birth B. Descent
C. Registration D. Naturalisation
a. (A) and (B) only b. (B) and (C) only c. (A), (B) and (C) only
d. (A), (B), (C) and (D) e. Answer not known
Gwflen GuDID euLfl®el
A. dpiy B. wyy eup
C. udey (pemm D. BuBens LowioTshsed
a. (A) wmpid (B) L @Gib b. (B) wsmib (C) wL G
c. (A), (B) wpmid (C) wLBw d. (A), (B), (C) wsmiw (D)
e. alenL  GgMwalledensv
Match the following
Preamble as Said by
A. Resemble the Declaration of
Independence of the USA 1. Sir Ivor Jennings
B. Keynote to the Constitution 2. Thakurdas Bhargav
C. Soul of the Constitution 3. B.R. Ambedkar
D. Constitution- Paradise of Lawyers 4. M.Hidayatullah
5. Earnest Barker

A B C D
a 1 2 3 4
b 2 1 4 5
C 4 5 2 1
d 1 4 3 2
e. Answer not known
CUIT(HSSHIB:
WaUeulledt LIGLD nplwleui

S0wféEs sghIT LITaLaihmd @HHal 1. &7 6T Olegesieim
SITFweveniol e (péHSHw Gpliy 2. HTGTHT0 LITH6
SITFWevemLOL L6 SLEBTLOT 3. U.or. oubGussit
4
5

oWy

SITFWevemIDLIL] - 6UPSHBMIEhTHeTET QFTTHSLD 4. 61D, anlendHUIHIe060T
. GITeulerOL.  LIMT&&IT
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70.

71.

72.

QN o
RN R
B U~ N
W N R WA
N RO

e. mﬂ@s)L O fwaisvenso

Which of the following activities were associated with the Justice Party?

i It gave representation to Dravidian Communities in the public services.
ii. The Government took over the power of appointing District Munsifs
iii. =~ Poramboke lands were not allotted to the people

a. (i) and (iii) are correct b. (ii) and (iii) are correct

c. (i) and (ii) are correct d. (i) and (iii) are not correct

e. Answer not known

SPHHEMILUBDIET HHlba Fulle o auienowimer LiewiHeT 61gi?

1. Gurgiiuenisefled Hyrall wWoHsEpEGL LIFHHHSHD CaTHUUG.

i. wrall L BHugsHsemen BHwdldb@Gh oumpitienu SFFmmrsbL  gmpIso\sTemL .
iii. UpbGuTdh@ HeVmIBMET WHHEHHE @HIHHH OFULIWLITOEN E(HHHSHI.

a. (i) w@w (iii) sfwreng b. (i) wi@w (iii) sflwrers

c. (i) wi@w (ii) sfwmerg d. i) wi@w (iii) seupTes

e. alemL OFfluwalsdensv

Consider the following statements:

1. The self-respect movement was a social protest against the dominant caste who were in
higher positions.

2. The self-respect movement was more interested in social freedom rather than in winning
political independence.

Which of the statements given above is correct?

a.1lonly b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

LNeT6U(HLD FnBmISHHM6T SH616NSD:

1. swwoflwrmg Sussbd e6ailug WhHW usalseled Embed o2 Wil sTHdE eHITear  Fps
Gumym_Lib.

2. swoflwmmgd Bussd pfwed S&HHATHmS umeusd ol Fpds GFHHHTHHCn DHH
FOUTH OBTERIY(HHDHSHI.

CuoBseniL. FmBBIbHelled e1gl gFflwimerg?

a. 1 (B b.2 L @G C. @yewi(Bd &
d. @yewiG SieL6L e. alewL OFfwalevenev

Pick the odd one out regarding Rettaimalai Srinivasan

1. Founded the Adi Dravida Mahajana Sabha in 1893.

2. Participated in the First and Second Round Table Conferences held in London.
3. Frequently wrote columns under the pseudonym of “Chitraputtiran”.

4. Was a signatory to the Poona pact of 1932.

a.1,2and 3 b.2and 4 c. 3 only

d. 4 only e. Answer not known
@y L Wemev Fellaurgen GPHd Heuprer @eaews Ffle CFuis

1. 1893-§60 &oud HITall ST FenLl 6TeNID DIMLOLIGHL 2 (HEUTH T,

2. BeveniL&ied HL UMM (PpHed WwB@ID @gewimd eul' L Geng LOTHTHH6MED &H60HSHICSTERILTT.
3. oeueulBungl ‘ST LUSIHer eeid Leverl Guuwifled &L (BenJHEmd 61(LDSHGITT.

4. 1932-860 Gauig GameTeniulL e QUUbSHH0 SRS L aITHEHeT E6(bHD QHET.
a. 1, 2 wBmb 3 b. 2 wBpid 4 C. 3 L (b

d. 4 w @b e. alowL OFflwaisvenew
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73.

74.

75.

76.

77.

20 | Page

Choose correct pair regarding number of constituencies

1. Madhya Pradesh -
2. Rajasthan -
3. Chattisgarh -
4. Telangana -
a.1,2,3

d. None of the above

230

200

90

120

b. 4 alone

e. Answer not known

c. All of the above

TGS ®6N elamwienibend GWNHSH FRwmer SenevideneT SHTeNwID

1. wsHw WyGsHaid - 230
2. BITMeEnSTe - 200
3. FLIeeSIT - 90
4. OQHeImISTenT - 120
a.1,2,3 b.4 w G C. OMal SIMRIHHID

d. 8mar gaidlevenev e. alewL gHIhlevemen

In a leadership election between two persons A and B, A wins by a margin of 192 votes. If A
gets 58% of the total votes, find the total votes polled.
a. 1000 votes b. 1050 votes

d.1200 votes e. Answer not known

Rm Sweveamoamwld BaHIHosBsGHL Caimelsd A wBpd B oypdlw Bm puiseisd A suereuy 192
ams@GaeT  alsHumssHHed Qeuppl OCQupABTT. Ordhs ans@Gaeico A syeieu] 58% U
CUDIFDBTT eTeNed, LFeuTer GLOTHSH UTHEGHSH6T 61616667
a. 1000 eurés@ el b. 1050 auré@ et

d. 1200 eurs@ e e. alewL  OFHfluiaisvensv

c. 1100 votes

c. 1100 suns@ it

Chungthang Dam is located in

a. Uttarkhand b. Himachal Pradesh
d. Sikkim e. Answer not known
SRS DN DIENLOHSIGTEN L LD

a. 2 S5HTHTEIL b. SuwrFFev LIGsHaID
d. fédd e. alewL O fwalevenso

c. Arunachal Pradesh
C. S(menim&gev LITGxHa1b

Which of the following is/are not an allotrope of Carbon?
(i) Diamond (ii) Carborundum

(iii) Graphite (iv) Fullerene

a. (i) and (iii) b. (ii) and (iv)

d. (i), (iii) and (iv) e. Answer not known
LesTau(meueteumBmien 61g1/ eTeneu HMTLIEN6T OTBBDIH DI6060?
(i) eweuyid (i) smTEUTyewIL LD

(iii) Symewu (iv) yevevrfesr

a. (i) wmpub (iii) b. (ii) wBpIb (iv)

d. (i), (iil) BpIbd (iv) d. eflenL G fweaisbenso

c. (ii) alone

c. (ii) L B

How the Dracunculiasis disease transmission takes place?
a. Consumption of water containing Cyclops

b. Inhalation of polluted air

c. Consumption of snail

d. Consumption of contaminated food

e. Answer not known
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WITGerGeflwmdlerd GCouTUI LIFeayH6e0 eleleuTsl Hewl GLNISBEI?
a. mFHENTLIED 2 _6iTen Hewiewien] 2 L QBHTeieuHmeo

b. wrg srBe»B GeuTdlLgTed

C. bHMBHMU 2 L QBT6ITeUHT60

d. Qs L o eyl QUITHEeT 2 I OETelTEnhaldHTed

e. alewL OFflweaisdensv

78.  The only block that contains all three types of elements in Periodic Table.

a. s - block b. p - block c. d - block

d. f - block e. Answer not known

S0 aufleng DI L euenetulled cLpeiipl eUemSBWITET SHelomiGenenu|d OFmeniheien @Gr OFHmEHd
a. s-0s1EeH b. p - QzrEd c. d - OsrEs

d. f-0sres e. alewL OFHflwelsveneo

79.  In which of the following minerals, Aluminium is not present?

a. Cryolite b. Mica c. Feldspar
d. Fluorspar e. Answer not known

Uelleud sefllomiseaied Sidlefib Ee0eoTHdl 61517

a. AfGwimensvL b. enwar C. QuedL erdLImT
d. yGermirerbuimi e. alowL OFflwalsoensv

80.  Streptococcal bacterial infection cause
a. Caronary artery disease b. Rheumatic heart disease
c. Artherosclerosis d. Heart clock
e. Answer not known
e ETUGLTaTSEe0 UTHlefur OHTBBTEL HTdHEGas T Caraipid GCrTul
a.8sws sl GHrul b. epomt’ 196 BsHur Gprul
C.O5W BISHdH GLTUl DL LIl d. 8w HMewi 60 SenLLIL]
e. alewL OFflwailedensv

81. What is the utility of life?

a. love b. ethics c. children d. charity e. Answer not known
QUTLDGGHT LILIGTTS  GUGTI@EHEUT Jnmleudl
a. 9L b. @mid c. wisl Bum d. GsmenL e. alowL Oz fNuelsvensn

82.  Who told that Not killing is the way for Gurus?

a. Thiruvalluvar b. Vallalar c. Buddha
d. Mahavir e. Answer not known

Gameveur OBBIGW GmHeumeT OB eTaIml Fnpslweul wmT?

a. FmeueitErpeuT b. eueitemeunit C. Ui
d. weamrafyT d. elenL GxNweleoensv

83. Indian citizenship can be terminated if
1. Voluntarily acquires citizenship of some other country
2. a person who has become a citizen through registration
3. Government of India is satisfied that citizenship was obtained by fraud.
4. citizen indulges in trade with enemy during war
a.1and 2 are correct b. 1 and 3 are correct
c.1, 3 and 4 are correct d. 1, 2 and 3 are correct
e. Answer not known
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84.

85.

86.

87.

Lelleu(hlD SMTyemImISeTe0 6endHd OCamenih @pHwd Gufleny FoHaH CaFuiwliLG?
SHETNFmIFULITS DIWLGOBTL (S Glgufleno CUEBIDCLITZ

. @IS GYEaTE LUHe| QFuim Oomem GCurg

(wempBasLTer saufluied Guufleny CUBBHTE DS SHHBIDCUTH

WHS BTeudhHev eIHMaCenmm® euenflesd OQHTLTL OomeTend GuTg

.1 wBgw 2 &M b.1 wpmw 3 &

.1,3 oppp 4 & d. 1,2 wppw 3 gf

. allewL  OFflwelsvensy

N —

o0 AW

12% of 250 litre is the same as of 150 litre

a.30% b. 20% c.15%

d.10% e. Answer not known

250 ei' Liflest 12% eledtigyl 150 o0l Lflesi ———————&&HF FOTGID.
a.30% b. 20% c.15%

d. 10% e. alewL OFHflwelsveneo

of Constitution gives special status to Jammu and Kashmir from 1954 to 2019.
a. Article 230 b. Article 370 c. Article 480
d. Article 560 e. Answer not known
spdlwevenoliF  FULOfey 1954 (pHe0 2019 euemy UL LBEBID  STOIOHBGHF
B SIbHe0H QUPHRISI WIS
a. fley 230 b. fley 370 c. Uifley 480
d. Ufey 560 e. alowL OFHfNwelsveneo

Consider following statements.

L. Citizenship act 1955 provides for acquisition and loss of citizenship after
commencement of the constitution.
I1. Constitution under Articles 4 to 11 provides for acquisition and loss of citizenship

after its commencement.

The correct statements are

a.lonly b. I only c. BothIand II

d. None of the above e. Answer not known

SPHOBTHHSHITEN HHEUVHEH6IT FHLTETUBMB GHMBILILIL 6YLD.

1. Guuiews gL 1955, Guuiew QupIHL / BwHHe0 pFumel SFFUD  DIIDLILF
FLL SIoaVSGLUII, HOL (LPMBESG 6UHBIGTENHI.

2. Guwiow upiHed / Bbded Fwmer LB GFwedipems oI SElF  FULID
FI5H 4 - 1160 CBETHEHSILL (BeiTenl.

a.1 wl @G b. II wi @Gwb c. ] wppd 1T

d. ggleeoenso e. alowL Oz fNuelsvensv

Potash alum is a mixture of

Potassium sulphate and copper sulphate
Potassium sulphate and aluminium sulphate
Potassium sulphate and potassium chloride
Potassium chloride and aluminium sulphate
Answer not known

QUITL LT LIQHTILD 6TeoTLIG BB BHEVENEUWITEGLD.
QumLrflwd Fe0GUL B@ID ST FeoBUL
QumLrmdlud FeoBul wBLID Sisvidlefiwid FeoGuL
QumLrdlud FeoGul wBmID QU Lrdflwib GoenTeny®
QumLrndlud &Cenmeny(® WwWBMILD Sisvidlefiuid FeoGuL
allenL  Ggflwealsvenev

o a0 TR

e R S
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88.

89.

90.

91.

92.

Extra copy of chromosome 21 results in

a. Sickle cell anaemia b. Down syndrome c. Kline Felter syndrome

d. Thalassemia e. Answer not known

GCImCGLnGamb 21-860 @H BHHL FmBHUTEH SHULT DiHeTed GmLBEUSD

a. ofleurem BrHs GFTens b. Leyer Hesn’ Gymid C. &HeM6vall. .OLeLLT &Fleor Gymid
d. seodbwir e. aloL O MNuelsdamen

Which one of the following Hybridization is present in PCls molecule?

a. Sp3d? b. Sp3d c. Sp3 d. Sp? e. Answer not known
Leteumeuemmpled ehd endaevli] PCls cpevdbanpiied o eiteng?

a. Sp3d? b. Sp3d c. Sp3 d. Sp? e. alewL Opflwaisdemen

Which of the following statements are true?

i Zinc blende is concentrated by magnetic separation process.

ii. Haematite is concentrated by gravity separation process.

iii. ~ Alumunium is produced by the electrolytic reduction of fused alumina
iv.  Matte is a mixture of cupric oxide and ferrous sulphide.

a.iandii b.iand iv c. ii and iii
d.iiand iv e. Answer not known

SIPHBMILaUBMIeT FAwTeT FBBIS6T 6lene?

1. Fms Leneil smhsll LMl (wpempuled SILTiIlsslLbGS Bl

ii. GamoenL L yeluimiy (wensuied oI milsslinGanBal.

iii. o AW Slviflenmenal LoeMB LUGLLY (empullsd @bdHd Siifleiun uBLLGSBS.

iv. Gl ereiiug @LUIMd SHeme(B WLBDID CUTFed FeLemUB LB WUBMBIHT HELMEULITEGHLD.
a. (i) wmpnb (ii) b. (i) w@miw (iv) c. (ii) omud (iii)
d. (ii) wBpio (iv) e. alenL G flweailsbensv

The first SC person from Tamil Nadu to represent Tamils in the Legislative Council in 1920
was

a. M.C.Rajah b. R.Veeraiyan c. Chinnaswamy

d. Dr. Subbarayan e. Answer not known

192060 gL L oaip Goevensuuled HlipTeemen LIFHBHHSHHuILGSHW SODBTLmLEF Caibhs UL 19uied
snglows Gsihs (pHed LTISHls

a. enb.d. gmegm b. syr. afewyuiest c. Hategmn

d. LrsLT. aliugmuiest e. alewL OQFHflweaisvenev

Which statements are correct as far as Justice Party was is concerned?

i. It sought to do away with corruption in religious endowments.

ii. Primary education was extended to depressed classes through fee concession.
iii. Provided credit to small industries.

iv. Claimed reservation for Muslims.

a. (i) and (iii) are correct b. (iii) and (iv) are correct

c. (i) and (ii) are correct d. (iv) only correct

e. Answer not known

HAHES Wl QUTHSHHLOL 1960 6hGHdH FnMBomevevTD Filuimereneu?

1. BhHESF  FIOWHBISEHSHITH  LOTOWEISTND  HOLOUBS  Snlgul  2a1pmed  (PIYaIBE
OamemiBeuy (PBULL .

ii. Uaigmdl auGLilehdb@ sl Falmaulsd OFHT EHdH Sevalenl BHLIQHHJ.

1ii. fpl OBTHeOHEHEHEG SLGIT GUPMRISUIFI.

1v. (PETOGULDHEHHHTE Hevll @HIbSL L Bamiluwigl.

a. (i) wspib (iii) & b. (iii) w@mid (iv) & c. (i) Bmpib (ii) &l

d. (iv) wL Gw & e. alenL O flwalsoensv
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93.

94.

95.

96.

97.

Arrange the following events in chronological order:

i. Vaikkom Satyagraha  ii. Cheranmahadevi Gurukulam Controversy

iii. Anti Hindi Agitation iv. Individual Satyagraha

a. (i), (iii), (i), (iv) b. (i), (ii),(iv), (iii) c. (iv),(iii), (ii), (i)

d. (iii), (i), (iv), (ii) e. Answer not known

st aufleng / Habe] @UBIGLBSHSIHE0 Lleeumd HEhasamen &revauflendliulg  @UOmIBmSSLD
1. MeUBBID FHH WS THLD ii. GFyearr WwWaHTCHa GHHGVF FTFmF
iii. @p& ety GumymLib iv. selbuT FHHAWTSHTHID

a. (i), (iii), (i), (iv) b. (i), (ii),(iv), (iii) c. (iv),(iii), (ii), (i)

d. (iii), (i), (iv), (ii) e. allewL Oz flwalsdenev

The ratio of the cost price and the selling price is 4 : 5. The profit percent

@@m Oumyefear eummidw eafemev wWBBID aIBB almev 4 : 5 ea@B alFHHH60 2 6iTenent. 61660
BT FHAIHD HTEWIS.

a.10% b.20 % c. 25% d. 30 % e. el GaMNuwealevemev
During 1962 election, in which constituency Anna was defeated?
a. Chennai b. Kanchipuram c. Salem
d. Nagar koil e. Answer not known
1962 b ouewi® BHiTHeled GuymlepT Siewrewm Gumliuil s GsmevalwenL b BTG 61817
a. QFesTenet b. amehdugid c. Ggould
d. praTBsmaled e. alowL OFflwalsoensv
Match the following
A.Art1l 1. Power to admit new states.
B. Art 2 2. Laws under Art 2, 3 not constitutional amendments.
C.Art3 3. Alter boundaries of states.
D. Art4 4. India is a union of states.
A B C D
a. 4 1 <, 2
b. 3 2 1 4
c. 2 1 3 4
d. 4 3 2 1
e. Answer not known
CUT(HSHIB.
A. a9rHa 1 1. 4w LOTHeVHEIGBMET DIEIDFHHGD SIS BTTLD
B. ag1Ha 2 2. I 2, 3 &1 S 2 6ien FLLMIGBE SFFWeVenIOlIL] H(HHSHHIB6T HI6V6V
C. o918 3 3. LDMHleVRIBET6T 61606MEVHENE  LOTIBN3IHED
D. agr5a 4 4. @pFHwr wrBleomisefelr eepiwib.
A B C D
a 4 1 3 2
b. 3 2 1 4
C. 2 1 3 4
d. 4 3 2 1
e. alemL Gaflwealedenso
Pravasi Bharatiya Diwas was started in 2003 on the recommendation of
a. L.M. Joshi singhvi b. Manohar Joshi c. KIN. Sahaya
d. L.C.Jain e. Answer not known
2003 60 ouylissiulL FGaudlw umygHw FHeumenerv LfbH] CFUISH G
a. LM. Gxmreag Fmail b. wGamasr Gxrag c. KN. gsmur
d. L.C. Geguieir e. alowL O MNuelsamen
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98.

99.

{LOO.

[LO1.

Match the following :

Amendment Subject
A.53rd 1. Statehood for Goa
B. 56 2. Statehood for Sikkim
C.55 3. Statehood for Mizoram
D. 36 4. Statehood for Arunachal Pradesh
Choose the correct option :
A B C D
a. 3 1 4 2
b. 1 2 3 4
C. 4 3 1 2
d. 3 1 2 4

e. Answer not known
gflwrs QuTmSS, alewLemul BHThHOSHBHBMLD.

SIIFMILIL H(HHH6O FLLID 6TewT Fa3mI

A.53 1. Gameum LOMHeL H&GHHHlenev

B. 56 2. dadb e HE&HHemev

C.55 3. 0By LOTH6V  H(&HHH M6V

D. 36 4. oymewmgev LIPGHFD OMHeY HE&HHenev

e op

W R Wy
—_ W N RO
N = WA
=N N

e. alenL  GgMwaledensy

Periyar E.V. Ramasamy organised the Superstition eradication conference at Salem in the
year

a. 1968 b. 1969 c. 1971 d. 1973 e. Answer not known

Quifiwnmit #.Geu. @ImoFmll SeuTseT 6hd Dwih CFeiHHed cpL BOLISHMS QUL  LOTHTL 196H6sT
LS EerTiT?

a. 1968 b. 1969 c. 1971 d. 1973 e. alewL Oaflwelsiened

In which year, Periyar E.V. Ramasamy was elected as the leader of the justice party
a. 1936 b. 1938 c. 1940 d. 1941 e. Answer not known
Quifiwrit F.CGeou. @ymosmdl pHobsl duler Hemeveugtas CHTHOBHBHHBLILLL  HL6wI{H

a. 1936 b. 1938 c. 1940 d. 1941 e. el Ozflwalsamnen

Which of the following statement about Ayothidasa panditar true?
i. He founded Adi Dravida Mahajana Shabha
ii. He established Sakya Buddhist Society

iii. = He joined servants of untouchables society

iv.  He published ‘One Paise Tamilan" News Paper

a. (i) and (ii) b. (i) and (iv) c. (ii) and (iv)
d. (iii) and (iv) e. Answer not known

hHd FmBpIseT DCWTHHSTF umigSHT UBBF Fflwmerg?

1. ST YHSHTTONL  LOSTRE FeOLIGHU! 2 (THEUTHSI 6T

ii. ST ‘FThHW CUeTHSH Fepsld’ 6THIB SIGNIDLIML 2 (HEUT S ITT
1ii. ST HWIL HHTCHTT eampulT FhissHHe0 CaTHSTT

1v. ST ‘@h UFT HOpeT eeip CFUISHs SHTenen Geuefluil L.
a. (i) wmpub (ii) b. (i) wBmid (iv) c. (ii) ompub (iv)
d. (iii) wBEID (iv) e. allewL Gz flwalsdenev
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[L02.

[LO3.

[L04.

[LO5.

[LO6.

[LO7.

Meghalaya state came into existence in the year

a. 1968 b. 1970 c. 1972
d. 1973 e.Answer not known
Guameowim Hell OTHEVLOTS 2 (HEUTET  ),6001(H
a. 1968 b. 1970 c. 1972
d. 1973 e. alenL  Gafwealsvemsv

If the price of Orid dhall after 20% after 20% increase is Rs. 96 per kg. Then find the original
price of Orid dhall per kg

20% elewL o wielBal Ve @m HGeoom o @pbhabd umlle ealemsv Rs. 96 eeafled e &Bsom
2 @EphHIHD UGG DIFe0 allenevenuiss SHT6emIH.

a. Rs. 86 b. Rs. 84 c. Rs. 78

d. Rs. 80 e. alewL OFHflwelsveneo

The constituent assembly held its first meeting on Dec 9, 1946 was attended by only
a. 211 members b. 210 members c. 208 members

d. 221 members e. Answer not known

9&UT 9, 1946 60 HEWLOUBB SPFwied MiTewi Feuuler (PSHeUTeUH Fnl L GHFled
WL BOW HevHEHI OSHTEITL 6T

a. 211 o_miiilerraeir b. 210 o_miilerraeir c. 208 o_minleiamel
d. 221 o giifeniser e. alewl G fNwalsbensv

Which of the following is a conservative force?

a. Electrostatic force b. Gravitational force

c. Frictional force d. Both (a) and (b) are correct
e. Answer not known

SIS BT aUBBIGT 61H LOTBT aieng?

a. BHlevev lestenluled allens b. mridwed eflens

d. 2 _gmuie) alens d. (@) wpmd (b) ByewiG i
e. allewL  Ggflualsvenso

Which of the following fact is incorrect about mitosis?
It occurs only in body cells

Mitosis has two divisions

Maintenance of 2n chromosomes

Two diploid cells are produced

. Answer not known

el Lrdled uBplw eiteubhld FnBmIselled SHeummedl 61%?
2 1 60 OF60&6Med LB HOLOLBISBSI

el Lrdled B UGLLSmeTd BT g

2n’ gG8ymBunBamibset BenevB IS ILBSMBSI

Bm BmHwFevseT GBS eimen

alenL  Ggflwealsvenev

a0 ge

Pan o

Who headed the Kallakudi Agitation demanding name change of Dalmiapuram railway
station?
a. C. N. Annadurai b. Periyar c. C. Rajaji

d. kalaignar Karunanidhi e. Answer not known

Lmsollwmyyd guled mHlemeowid QuwiT rmmll GumymlLiomer Hevevd@ly CUITTLLSHBEG HMELEmLD
SHTBRISWeUT WmfT?

a. C.N. sjewrenimgieny b. Guflwnmi c. C. pregred

d. &m6EhT & (HemTTH ) e. alewL OFflwalsoensv
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[LO8.

[L09.

[L10.

[L11.

[112.

[113.

Dhordo village in Gujarath is awarded with Best Tourism village by

a. Ministry of Tourism, Government of India

b. Gujarath Government

c. World Tourism Organization

d. World Trade Organization

e. Answer not known

G2UTHFHe0 2 6ften CHTICLT HImosdHHBE Fmbhe SMBBIeOT SHImo al(hdhl eUPHISIWIG

a. @pHHU FBBIGOT SHIEDIDFFHLD b. &xms oS C. 2 608 &MBBIGOT [HIBIeI6ILD
d. 2 08 aMeEss HHeUeTID e. alewL Oz fuwealsdensv

Name the 90th Chapter of Kural

a. The Zeal b. Evils of Killing c. Respect for Elders

d. Compassion e. Answer not known

FHmeGmefled 906uzk DIHSMILD 61517

a. 2MEHH(LPENL HLD b. Qsmevevrento c. Quilwreny empwimento
d. BauBmieT g&iableiensv e. alew OzMwalsoensv

A loss of 4% was suffered by selling a plot for Rs.1560. The cost of the plot?

QBT @b weeremw 51560 & alBeb Curgs 4% Foaisb BOLGL LOGWL ST iy
Slbwemeruie oiLdbHalensv WTG?

a. Rs.1625 b. Rs.1265 c. Rs.1525

d. Rs.1575 e. alewL O fweaisbensv

When insurmountable difficulties will come?

a. Lack of Zeal b. Not respecting elders c. Not controlling tongue
d. Laziness e. Answer not known

1SV  OILIHLOSHIGTLID 2 _6WIL TGHLD?

a. 2a&HHL06TemLOUITED b. QuiiGwreny wHwimeniowired C. [BTEUL SHBLOGIIENLOWITED

d. wiguiermed e. alowL O MNuwelsdamen

Identify the incorrect pair.

a. States Committee - Jawaharlal Nehru

b. Fundamental Rights Sub-Committee - H.C. Mukerjee

c. Steering Committee - Dr. Rajendra Prasad

d. House Committee - B. Pattabi Sittaramayya

e. Answer not known
SHoumrerr Cmgenul SHewILss.

a. LOMHIEVHIBET G (LD - 2euamiTeomed Gh(mh

b. @wliuenL o fenser Hiemewid@ 1) -H.G. wpsied

C. BWHss G - LréLt. @mBxpaly Uysns
d. semen G - Al emd Egmymouwiwm
e. alenL Oz fwelsdenev

1 amu is equivalent to

a.leV b.931eV c. 931Ke V

d. 931 MeV e. Answer not known

1 amu eaiug BFBE FODTEIH

a.leV b.931eV c. 931Ke V

d. 931 MeV e. alewL OFHflwelsveney
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[114.

[L15.

[L16.

[117.

[118.

[L19.

[120.

Which organelle of the following occurs only in plant cells?

a. Peroxisome b. Glyoxysome c. Desmosome
d. Ribosome e. Answer not known

FTauy OFe0®6M60 LB BHBGHWD HIGweBILIL] 6157

a. QuymdheniGamid b. dememuwimeendGamid C. QLer0BorBamid
d. engGuTBgmid e. alewL OFfwalevenev

The Scientist who experimentally proved the existence of positron is

a. Fermi b. Anderson c. Bohr

d. Bethe e. Answer not known

urdlgreir @liueng GamgHemecpeold HiepLlshs ipflaluleondehT

a...Gums b. eyewiL e c. Gumi

d. QusBs e. alewL OFHflwelsveneo

Who was the commander of Anti - Hindi army formed by Periyar in 1948?

a. Periyar b. C. N. Annadurai c. Kalaignar Karunanidhi
d. Maraimalai Adigal e. Answer not known

uflwrymed 194860 GleudbslLL L @bHFH eHTUYL LenLuler SHemugl wmi?

a. Gurlwmi b. C.N. 9jewiemmgieny C. BHMEVEHT H(HEWITHIS
d. eBLmeL DIgH6lT e. alowL OFflwelsveneo

Which central minister/s resigned his/their minister post supporting anti - hindi agitation
in 1965?

a. C. Subramaniam b. O. V. Alagesan c. Bothaand b

d. none of these e. Answer not known

196560 @hd ey  CuUMTLLSHBEG pHTUNSH HAH  DHHW  HDWFFT  UFHalenul
Suredemon QFWIST / GEuIHeuTseT WimT?

a. C. aliywenfluid b. O.V. o1pBsget c.a, b yewi@d

d. easefeoensy e. alowL OFfNwelsvenev

A trader marks his goods 40% above the cost price. He sells them at a discount of 5%. What
is his loss or gain percentage?

@ ealwrumf e Gummener eumhd et alemeouisd 40% o wiTdHs GUPHHTT. Swxh 5%
HeNEnpLY CFuIxH IBBIT. SUHSGHS HMLHH EeoTL DleevH B L FHAIHD 6leten?

a.40% loss b. 33% gain c. 30% loss
d. 35% gain e. alenL OFfwalsoensv

Choose incorrect pair about Tiger Reserves

a. Valmiki - Bihar

b. Veeragana Durgavati - Madhya Pradesh

c. Dholpur - Karauli - Rajasthan

d. Ramgarh Vishdhari - Uttar Pradesh

e. Answer not known
Hed&elT LUMHISTUIUSD GHBSHH Houpmer enentenulsHCHTeh

a. eumeoLS) - et

b. efyrsenm gHiTfsTeud) - wHHW LFBxhad
c. GameoyT &Cremed - OITEErOSHT6ET

d. gmbsT elaas - o SANNCHF1D

e. alemL Gafwealedenso

Nari Shakti Vandan Adhiniyam bill received president assent on
a. September 28, 2023 b. September 29, 2023 c. September 30, 2023
d. October 1, 2023 e. Answer not known
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[121.

[122.

[123.

[124.

[125.

BTfl FHFH eubpHer pHefiwid GFTHT SO GRUWITHS Henevauflal QLILIGHM6eVL CLIBBESI.
a. GaiLwur 28, 2023 b. @aribur 29, 2023 c. @uLwur 30, 2023
d. &&8umuir 1, 2023 e. alewL O fwaledenso

Let no liquor be drunk; if it is desired, let it be drunk by those
care not for esteem of the wise.

care for esteem of the wise

The one who wants to have familiarity with the noble
None of these

. Answer not known

SHEITEMET ©_aulenbdnl_THl, S 2 ewient Ceusmi(BOLoeilsy WITT 2 _6uTenie0mb?
Fnet@mmilLd &y Gup allHLbUTgHeuiT

Fre@mpmilLd W&y Gup el hbLLeT

Fre@mpmilLd uenpewy LMITL L &il(HbyueuT

Bemeu gHL606M6L

allenL  Ggflwalsvenev

o on o

a0 o

The fair maid of will turn her back on those who are guilty of the great and
abominable crime of drunkenness.

a. madam b. madandhai C. nanam

d. mangai e. answer not known

adImI  ©FmeLELLILIBLD  [BEVGVGUAT,  &6iT  el@IBl  OFTeLELILIBL  all(HLUSSHETSH
CUBRIGHBBLD 2 ML WeTdh@ aHCy HBSTOEd 6lFeOaUTEIT.

a. LD b. wLbos C. [BTEUILD

d. whms e. el 0Fflwealsveneo

How many states and union territories as on 1 Nov 1956?
a. 14 states and 7 union territories

b. 13 states and 6 union territories

c. 15 states and 5 union territories

d. 14 states and 6 union territories

e. Answer not known

BeUbLT 1, 1956 SIGIMI A(HHS LOTHeVRIS6T WBMID welwer LIyCasamise e18Hemen?
a. 14 wpleomime ommId 7 upeflwes LITCaamisei

b. 13 wrPevmise wBmId 6 upeiwet LyGhamisei

c. 15 wmplevmimsen wBpId 5 welwesr LyCsHamisei

d. 14 wrevmiser wBmid 6 wpeflwer yCsamisbe

e. alewL Gafweaisvenso

Where does oxidative phosphorylation take place?

a. Chloroplast b. Mitochondrion c. Ribosome
d. Lysosome e. Answer not known

aHenImBaim uTervGuTenCommid 61miE ChTBHESBaI?

a. USMBIGH6THLID b. enwot G smewt” Muiest c. emyGumBambd
d. emevBamBambd e. alewL OFflwalsbensv

In vaccum all objects fall with

Same acceleration and heavy bodies reach ground first
Same acceleration and reach the ground at the same time
Different acceleration and reach the ground at different time
Different acceleration and heavy bodies reach ground first
Answer not known

can o
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[126.

[127.

[128.

[129.

[130.

[131.

6T606VT  QLIM(HETTHEHD CeuBmiL HFHed alopbCuITg)

Whsab @8y SeneauTsa b, Heds WGHS CUTHLH6T HmFmul (PHelsd GHTHLD
WWeEaD @Cr SleneuTdea b, 6levevT GUT(HLSEHD @CF GBrHHled Hemgmul HTHLD
Whdsb OeusiGaumprsad OeuaiGam CHr&HHe Homgemul OHTHLD

WWBEHD CeuaiGaupTaabd, Hedm WGHS CUTHLS6T (PHeled SHmenuwl GCHTHLD
allenL O fwealedenev

o oo o

The price of an item is increased by 20% and then decreased by 20%. Then the final price as
compared to original price is

a.20% less b. 20% more c. 4% more

d. 4% less e. Answer not known

m Gurmeier elemeowmang 20% oFHsNEHH et 20% GOBABH.  (PHe0 alenevenul @UIIAGID
CUTWSH SmLF aleneouiTeargl.

a. 20% @emmey b. 20% &F=sd c. 4% &P b

d. 4% @&empey e. alenL Gxfweaisvensv

In which year nutrition Export Committee of ICMR prescribed calorie requirement for IRM
and IRW?

a. 1967 b. 1977 c. 1968

d. 1965 e. Answer not known

6bd GUBLLD @HHW mHSHHeN Sules SHeaiFleler o awie] FBLLS G T gyram @bl
ISGLD, OuemieniBE@GHL CHemaulB HGeomll SleeyHenend HeWIHHI_(BHH SHHDHIGTENHI.

a. 1967 b. 1977 c. 1968

d. 1965 e. alowL OFfwelsvensv

Choose incorrect pair regarding police commission of Tamil Nadu.

a. R.A. Gopalsamy - 1969 b. Shabanayagam - 1989 c. Poornalingam - 2006
d. C. T. Selvam - 2021 e. Answer not known

SOIPBHHFH60 BMeUD SeMemILSMSL CUTBISSH HeumTer Qemenienuld CaThogMm

a. R.A. BGsmumevgmfl — 1969 b. sumprwsd - 1989 C. ufTewiedmisd - 2006
d. C.T. Ggeveud - 2021 e. alewL OFfwalevenev

How the Valluvar specifies the place of gambling?

a. kavaru b. kazhagam c. kavadi

d. netham e. answer not known

GIHTBL BL HmS FH(heusTeneuT ereleumm GpILLIBHSBTT?

a. seuml b. spsibd C. Hallg

d. GBS e. alewL GaMuiealsvemsv

The general and regional governments of a state shall be independent of each other within a
sphere’ said by
a. Dr. Wheare b. Dr. Ambedkar c.Dr. Rajendra Prasad

d. Dr. Ivor Jennings e. Answer not known

“@(m [BTL_1 65T & FHW LOMHI60 DITSHB6I DIH6IT 6T6LEM6VBGL_LIL (B QBSOS TN
FHHH TLOTETMEUBEMTGD 6160 FnsluIeuiT

a. Dr. elwir b. Dr. ouGusasit c. Dr. gn@xibay ysns

d. Dr. &Gaunm Ogestesimidserd e. alewL Gpfwailsdenso

By which Act the name Uttranchal was changed into Uttarakhand?
a. The Uttranchal (Alteration of Name) Act, 2006

b. The Uttranchal (Alteration of Name) Act, 2000

c. The Uttranchal (Alteration of Name) Act, 2001

d. The Uttranchal (Alteration of Name) Act, 2003

e. Answer not known

30 | Page PH: 044 - 24339436, 42867555, 9840226187




[132.

[133.

[134.

[135.

[L36.

hHF FLLHHTD 2 _HFHITEhFO 616im OLUWT 2 SHHTHTewni(B 6leiml LOmBBULILL g7
a. 2 $5IMehae0 (QUWIT IBBL) FLULLD, 2006

b. 2 gaymehaed (QUwIT WIBBID) FULi1b, 2000

C. 2 HF[Mehge0 (GLWIT LomBmwb) FULLb, 2001

d. 2 $sITEhFed (QUWIT wWIBBID) FULib, 2003

e. alewL Oz flwalsvenso

Difference between RNA and DNA is that of

a. Phosphate and sugar b. Phosphate and Nitrogenous base
c. Nucleoside and nucleotide d. Sugar and nitrogenous base

e. Answer not known

SIT.61601.6] LOBWID 19.6T601.6] —HGWD e uled o e6iten Coupt(® TSI

a. umerd@uL. oBMID FTHHmMIUIEL 2 _6iTeng)

b. uredBUL BBID MPBLFMRID HTTHH60 2616

C. PudeMGurens® WBBID BHuLHaMCWITELIQEL o 6iTerg)

d. sTéaemy OBEBID MEHL TR0 STTHH0 2 _6iTeng

e. alemL OFfluwaisvensv

How the Thanjavur doll is performing a dance like continuous moving without fall?

a. Centre of mass b. Centre of acceleration c. Centre of gravity
d. None of these e. Answer not known

6Tl HehameyT GuTben SO alpToed OHTLIFFAWTS od OCaTemih SHSHmEH?
a. Henm eMLDWILD b. whss ewwwid C. UL emLDWILD

d. Bauppfied gaIevem6v e. alewL OFHflwelsveneo

A shopkeeper purchased 200 bulbs for Rs. 10 each. However 5 bulbs were fused and had to
be thrown a way. The remaining were sold at Rs. 12 each. Find the gain or loss%
a. Loss 14.53% b. Profit 15. 43% c. Profit 17%

d. Loss 18% e. Answer not known

QH BOLESBTT @elbeuTeimd ¢h.10 eteor 200 LIGOLHENET GUTRISIGITT. SleuBmled 5 L6OLS6T LS
aeipl  SMILBWOIUL B, SMeHd eaplwiu’L gl Homw QaleuTaipid b 126@ alIBBTed, el
OUBB UTL SIVEVEH HAGL FHAIHHMBHDH HT6NIH

a. padLlb 14.53% b. eorub 15.43% c. ®eomub 17%

d. majLb 18% e. alewL OFfwalevenev

If the diameter of the earth becomes two times its present value and its mass remains
unchanged then how would the weight of an object on the surface of the earth be affected.

a. Becomes half b. Becomes one-fourth c. Becomes one-third

d. Remains unaffected e. Answer not known

gllufesr aflLb & WLEEG DHSNHH DS Hewp LOTBIoeL SheHBaH  elefled  LLolullesr
Gupurtiied o siten GuUTHefenr steml eTeueuTm CoupLGSBa?

a. uts LEmSH b. preidled @ LGHWTABS C. cpeled QH LIGHWTH B

d. wmmpmoed SmeABS e. alewL OHflwealsdensv

The enzyme that joins DNA fragments is

a. Restriction endonuclease b. Lipase c. Ligase

d. Peroxidase e. Answer not known

19.6T631.6]. HIWI(HBMET QL BouSB@&H LWLBHSHUIUBLD GBI

a. Qrervigfdagest ereCLT BuydbedBuierd b, eweoriGLerd C. ameuBmerd
d. GuyreenIGLerd e. alewL OFflwalsoensv
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[L37.

[L38.

[L39.

[140.

[141.

Arrange Asiad 2023 medal winners in descending order.
a. China > South Korea > Japan > India

b. India > China > Japan > Thailand

c. China > Japan > South Korea > Thailand

d. China > Japan > South Korea > India

e. Answer not known

2023 oFw allewemum (B CUTLIuled UHGHHD Oeuaiy HTHHMeN BBHIG  UfleNFLILBHBHIBISHET.
Form > OGgper Gamflum > ggliumer > @haluim

@hHwm > Feorr > sluTST > SHTUIOMHS)

Feorm > goliument > Qgent OQsmilwm > HTUleoTh

Feorm > sgliument > Qgent GQsmflwm > @balwim

allewL OFMwealedenev

e an o

Suryavamsam Ninaivugal was award with recently.

a. Sahitya Akademi b. Saraswati Samman c. Jnanpith Award
d. None of these e. Answer not known

GHITWEUDFLD [Hleweneydber FLOLIGHH60 al(hg CUBBS

a. sTHHW SHSHTSHL b. gyerveud) &ibiomest C. @hrariL almal
d. @mea gaIdevamev e. alowL O MNuwelevenen

26th National Conference on e-Governance was held in
a. Katra, Jammu & Kashmir b. Indore, Madhya Pradesh
c. Surat, Gujarat d. Bhopal, Madhya Pradesh
e. Answer not known

266ug1 GCapdlw WaT uemems OTHIH HwLCUBB S Lb

a. a&Hym, o & STadsT b. @bant, wHHwIFCHFID
C. GIdH, GHITH d. Gumumed, WHAWILNFCHFID
e. alewL Gafweailsbenso

In excessive or deficient which one of the following may cause disease?

a. flatulence b. biliousness d. phlegm
d. all of these e. Answer not known

aIemel WIGHHSTID GmBhHSTeID ChTenw! o WL Téh@GL?

a. euelfl b. ouped C. £uib
d. @meal SmaTHSHID e. alowL O MNuwelsdamen

According to Valluvar, when the body does not need medicine?
when eating delicious food

when eating nectar

when eating food after digesting pre-eaten food

when eating a balanced diet

. answer not known

aIOUTg o L1bBEG WwmbheH Ceueamnguigledensy 616Nl &Hl(HEUGTEHEUT FnMIs6IIBTT?
SIBIFEME 2_60Ien6 2 6uIeILDOILIT(LOSI

DIOTHHMS 2 wamIDOLITIHS

(et o 6w o _ewia], QFfsHaLler o w6y o auigmid LTS
gllaldls o ewieney o ewigmid LTSI

allewL O Mwealedensv

o an o

a0 o
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[142.

[143.

[144.

[145.

[L46.

[147.

Even those who are exalted like a hill will be , if they commit deeds that are

debasing.
a. mustard b. atom c. rice
d. rosary pea e. answer not known

wemeuBumed o Wiihd Hemeouled 2 6iTemeu(HD HTPOYSGID SHTTEOILOTRT  OFUIOHMET (T
9leNe] GFUISTeID SHTDHEH GumuwielBHeul

a. 66 b. siem C. Gpevieu]

d. @ea@miweni e. alowL OzMuwelsdemev

How many ordered pairs of natural numbers (g, b) satisty a + 26 = 100?

a. 33 b. 49 c. 50 d. 99 e. Answer not known

a+26 =100 etenn ouBOTH eiHBmeT Buied elewidbe auflengsd Gmmg (a,b) 2 eteng).

a. 33 b. 49 c.50 d. 99 e. alewL O MNuwalsvemen

Under which of the following amendment was the Berubari Union ceded to Pakistan?
a. 7th Amendment Act, 1956 b. 9th Amendment Act, 1960

c. 8th Amendment Act, 1960 d. 11th Amendment Act, 1961

e. Answer not known

6hd FLLAHMBSSD Ly Qumumfl welwer LTHeOHTanldE UpmISILLL &7
a. 7eugl FLLHAmSHWD, 1956 b. 9euz gL Hmssn, 1960

C. 8augl FULAMmSHWD, 1960 d. 1leug gL Hmssw, 1961
e. alewL Gafwealsenso

Which is an incorrect match concerning the parts of the Indian Constitution?

a.PartIV - A - Fundamental Duties
b. Part IX - A - Municipalities

c. PartIX-B - Co-operative Societies
d. Part XIV - A - Official Language

e. Answer not known
AbFHw SFFuievenolilen LGS 6T CHTLTUTS SHeummer Senewili] 61ghi?

a. UG IV-A - SIQUILIML &  HL MLDBHGIT
b. ugs IX-A - BBITLFb6i

C. UG IX-B - Sl (BBeYF IFMIBHIGHEI
d. uggd XIV - A - SIIaIeVd  Gomf

e. alemL G fwailsvenso

Which Act abolished the Dyarchy in the provinces and introduced it at the centre?

a. Government of India Act, 1909 b. Government of India Act, 1919

c. Government of India Act, 1935 d. Indian Independence Act, 1947

e. Answer not known

Mpmhdwmiseaieco @yenLwm’ fenw @WldaH ol G wHhHuled Semnd DBWPSILGSHIHW FULID 6157
a. @bHw SFTHSEF FULD, 1909 b. @bHw oyamhIsF FULb, 1919

C. @b SsTHRISEF FULID, 1935 d. @pHw FshAr gL, 1947

e. allewL  Ggflualsvenso

1st Constitutional Amendment as a result of case.
a. Champakam Dorairajan /Vs/State of Madras

b. Chandra Mohan /Vs/ NCERT

c. Chandrana & Co/Vs/State of Mysore

d. Central Railway /Vs/C.M.Pradhan

e. Answer not known
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[148.

[149.

[L50.

[L51.

[152.

AbFHw SFFuieosmoll] FUL (PpHeoTaugl FLLG HHSHHHIHBGHS STTOIOTET ULDSHE
a. QFewiusd Hewy BITmet / T / Ol JTed DTEHTEmT D&

b. sy Gurser / edhit / NCERT

C. AT [/ aHT / dGT DIFSH

d. wgHw @ruievBen / erglt / C.M. LyHest

e. allewL  Ggflualsvenso

Where should metacentre of a ship lie, to keep it in equilibrium?
a. below its centre of buoyancy b. below its centre of gravity
c. above the centre of gravity d. above its centre of buoyancy

e. Answer not known

QM &L Fplemeouled DmEHd CeuamiBOLWTITL DiSBLILIT HHmeaud ST WD 6miGsH
BméHs GCeauemiBLd?

a. Wsmel MLWHHBEG S b. ®iiy ewwwWSIBESG S

C. Wiy ewwwsHHmE BGoed d. Wsma eowWSHHBE GLoed

e. alemL OFfluwalsvensv

In DNA, nitrogenous base together with a deoxyribose sugar and a phosphate group forms a
a. Nucleoside b. Nucleotide c. Protein

d. Amino acid e. Answer not known

MBLTMET  STIOTRIH, 19.5IfGUTerd FTddamy BmiId uTerduUl OaTGHuLeaT Caibhgs DNA
alled 2 _(HauTaldpl

a. puysefCuimensrv® b. HuwdbeafGuiment_® C. UJSIb

d. @198 &eod e. alowL OFHflweaisdenew

What is the excess pressure inside a soap bubble?

a.g b. T/r c. 4r—T d. zT_r e. Answer not known
m Gamiy @UiPuiear o L UBHHled o 6o HHS DWSHSHHIH 6T WS elevtenn?
a.g b.T/r c.4r—T d'zT_r e. alewL OFNwealsoenev

In meiosis, recombination occurs in

a. Metaphase 1 b. Prophase I c. Metaphase 1II
d. Prophase II e. Answer not known

Wwmrderd LGLILIeL BIBFTHMmE HEWL GUXILD Hlenso

a. entowiBlenev I b. (ipme0 MHlemev | c. emwowl Hlewev 11
d. waed Bewev 11 e. alewL  Gafuwalsvemsv

Nuclear forces are

strongly attractive force

strongly repulsive force

attractive or repulsive depend on nucleans
gravitational forces

. Answer not known

SIIBHIH AMF  6ITLIS

aedemwimen HeUTFS aleng

aellenLowimer eIAHMILY aleng

SIMIHEH[H HIFHmeT OUTHHSH SUTFS allend Sevevd AL allens
FILL eflend

allewL O Mwealedenev

o on o

a0 o
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[L53.

[154.

[L55.

[L56.

[157.

[L58.

[L59.

Who introduced the concept of scientific socialism?

a. Jawaharlal Nehru b. C.N. Annadurai c. Singaravelar
d. Kalaignar Karunanidhi e. Answer not known

allghepTerr Camdlwelad 6B HHHMS DIBI(WSILGSHSHUIeUT WimT?

a. eauamiteomed Gb(m b. H.et651. SiewTEITSHSHIM]T . FiisTyGaleviT
d. semevEhT BH(HEIMHIS e. alowL  GaMuwalevemev

Anna Resolution is related with

a. Name changing of Dravidar Kazhagam into DMK.

b. Name changing of Justice Party into Dravidar Kazhagam.
c. DMK decided to contest 1957 election.

d. Triangular fight.

e. Answer not known

SIGWIIT  SHTOTETHBHIL 66T CHTLTL DL WIG).

Homalld SIS0 H(psd 616l GQUIWIT LOTBBLD.
pHSeLAuller GQuwT HgmellT SpsD eler WLIHBBLUULL G
1957 Bxitdelled Fl.(p.&. Gurliiuil (piye] GEUIWINLLL SI.
wprbwemer GumgmLL LD

allenL  Ggflwalsvenev

oan o

At present how many Maharatna and Navratna companies are there in India respectively?

a.14 & 15 b.13 & 15 c.13& 16

d. 14 & 16 e. Answer not known

sBlurgl @bhFHwraled (WenBGW 61&HHMET LOABTTSHMIT LOBHBILD HEUFSHTT HIBICUGIHRISET 26166 ?
a.14 & 15 b. 13 & 15 c. 13 & 16

d. 14 & 16 e. el Gafwealevemsv

How many two digit numbers are divisible by 13?

a.6 b.7 c.8 d.9 e. Answer not known
13 o160 aUGUBD FMeVHD 6TwTH6I6H  6T60T6NTHeNBHEMUIS HT6U0TH.
a.6 b.7 c.8 d. 9 e. alenL  Ggfuwealsdenso

Ambedhkar statue of equality outside India is at

a. London, UK b. Maryland, USA c. California, USA

d. Paris, France e. Answer not known

@bsHwralBg OeuellCu SbGuSHEFlar FdHHlusbHBETR Flenen B0 2 6iTeng)
a. GLENIL 6T, BmIBleVTHGI b. Guwhevrein®, OLMNHHT c. &60.".Cumireiwim, S6whdaT
d. urflerd, ymesrerd e. alowL O fNuelsvensv

International year for eradication poverty

a. 1978 b. 1996 c. 1998 d. 1999 e. Answer not known
aumieny UINIBsTer FTaiGhs e (h

a. 1978 b. 1996 c. 1998 d. 1999 e. alowL G Muwealevemev
International Institute of Tamil studies was established on __

a. October 20, 1969 b. October 20, 1970 c. October 21, 1970
d. October 21, 1971 e. Answer not known

FrauBsha SO LU16] HimIeUeTD SISO HmleUILL L Gl

a. o1sB6LmTuT 20, 1969 b. &&6Lrur 20, 1970 c. o&CLmuT 21, 1970
d. &sGLmur 21, 1971 e. alewL OxfNwalevenso
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[L60.

[L61.

[L62.

[L63.

[L64.

[L65.

is absence of conceit; meanness, we deem,
Riding on car of vanity

a. Greatness, Supreme b. Greatness, Meanness c. Meanness, Greatness
d. Meanness, Meanness e. Answer not known
QU(HEMLD BaTeni Fmlenip

oabg @il_60
a. QupIsD, QUHLISLD b. Qupisw, HOsd C. Fmpdsd, QuHLISHLD
d. fpidsn, HAposd e. alowL OsMNuelsamen

How many members appended their signatures to the constitution as finally passed?
a. 289 members b. 284 members c. 389 members

d. 217 members e. Answer not known

Bnswrs BeopCauBsplul L ordlweusoliled aHHemen 2 MININTEH6T SHhIS6T mMBEUTILIKISEMENT
B\ (beiTerentiT?

a. 289 o mnlerrsei b. 284 o minileiresel C. 389 2 minlerrsel

d. 217 2_punlerrsen e. alenL O fluieledensv

Who wrote the famous book "Grammar of Politics?

a. Plato b. Laski c. Aristotle

d. Machiavelli e. Answer not known

"Grammar of Politics" eteii3 LIyLe0 LSHBHMS 61 uteu wimr?

a. emm GLm b. eomervd) c. ofleroLmiged
d. wrédweaieed e. alew OaMwaisoensy

The atomic mass of the middle element is nearly the same as average of atomic masses of
other two elements.

a. Modern periodic law b. Newland’s law of octaves

c. Dobereiner’s law of triads d. Mendeleev’s law of periodicity

e. Answer not known

LHHUND o 6o HaNLSHHET Djgm HOBWTRIGH IBSHSHMBUW BB  &H  SHeollomiserles
Slapenpuler Frmgfe@s FOTGLD.

a. poiar eITfhHar ald) b. Pueorhder erewio &g

C. Lueffles (pbemio el d. Quewt eSallen SaITHHE ol

e. alemL OFfluwalsoensv

Sensitivity, congenital, traumatic, metabolic and associated with drugs, smoke and heavy
alcohol consumption are characters of
a. Obesity b. Cataract c. Glaucoma

d. Diabetics e. Answer not known
o aFAWBP(HSHHe0 e, STWID, euenTdlend LOTHBBLD OBBID WGBS, LM  LOBEBID
GYUPESHCHTH OFHTLT LW GCorul

A. 2 L6V LIHLDGH b. ®ewieny C. HlenmeBsmipT

d. myfey e. el Ozfwalsamen

Stretched rubber chord is an example for

a. Kinetic energy b. Potential energy c. Thermal energy
d. Electric energy e. Answer not known

BWsslUlL JUUT Hewih 6I5BE eIbHHISSTL (b

a. Buiss BB b. Hlenev ouB®ed . Qe &yBBeL
d. e syBmed e. alewL OFflwalevenev
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[L66.

[L67.

[L68.

[L69.

[170.

[L71.

A man has to exert a force of 10 N at the edge of a door to push it open. How much force will
the man have to exert if he pushes the centre of the door?

a.10N b.5N c.15N d.20N e. Answer not known

QM BUT @I BHHMel Gt (peveruled (amaliiliguisd) 10 N oleney el OFeihd SHmLm,
aafled 9I6xH HHmeu SIHET WL UGHUTlL BHbeH Hmbs Cohevauliupld ealenguie WL
61601601 7

a. 10N b.5N c. 15N d.20N e. alewL OQxfwaledenew
Who established Avvai [llam?

a. Moovalur Ramamirtham b. Muthulakshmi Ammayar

c. Dharmambal d. Annai Meenambal

e. Answer not known

‘Oleiemer  @606VID’ GIGHTLMmISWeUT wimfT?

a. eeUTeYTT @FTOTSHLD b. w&HI66e &Il &benowiT
C. STLOMDLITGIT d. oieener ermbLIT6IT

e. alemL OFflwalsvensv

Find the odd man out in the following;:
2200, 2100, 2000, 1600, 1200, 700, 100

a. 2000 b. 2100 c. 100

d. 700 e. Answer not known

Ledteu(bld etemibe GHTLTeullengulled CUTBHSHTSH 6TamIeN6wISH EHiT6uIH.
2200, 2100, 2000, 1600, 1200, 700, 100

a. 2000 b. 2100 c. 100

d. 700 e. aloL s Muwealsdmed

Who was the last president of Justice party?

a. P.T. Rajan b. K.V. Reddy Naidu c. Periyar
d. C.N. Annadurai e. Answer not known

bHbaL fuller senLd HemeveuT WT?

a. PT gmegest b. K.V. Griig mru® c. Quilwimr
d. C.N. 9jcirenimaieny e. alewL OFfwalevenev

Choose incorrect pair regarding Nobel Prize 2023

a. Katalin Kariko - Medicine

b. Louis Brus - Physics

c. Alexey Ekimov - Chemistry

d. Jon Fosse - Literature

e. Answer not known
Gpmued ufla 2023 @NHH HUBTERT EeNEWINUIS HTENISH

a. alLreder &faGsm - LO(HSHSIGULD

b. eumuierd Lmerd - SuiBLiuied

C. 966585 6185Gwmen - Gougluied

d. G . .BumerbBerv - B60& & WILD

e. alemL Gafwealedenso

India’s first Green Energy Archaeological site

a. Agra Fort b. Thanjavur temple c. Mahabalipuram
d. Taj mahal e. Answer not known

BbFHwmaler (PpHed LG MBBed CHTe06e0UIe0 HerD

a. oHIm GHmem b. sehgTayT Gamaied C. D&MD
d. sr®wanTed e. alewL Oz fuialsdensv
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[L72.

[L73.

[174.

[L75.

[L76.

[L77.

Tamil Nadu Government Samadhan scheme is related to

a. Public Grievance b. Commercial tax c. Registration
d. Social welfare e. Answer not known

H0Ipd DFleT FOTHTE FH LD 6IHIL &1 CHTLTL ML UIg?

a. QuUTEILSHSH6T GemDm b. euenls eufl C. UFaSHImB
d. Fups Heold e. alowL OsMNuealsdamen

According to Thiruvalluvar what is character of perfect man?

a. goodness b. eloquence c. physical health
d. mental health e. answer not known

Fne@mmiledr HeveTa H(HEUGTEHOUT Fnmleudl 61517

a. (GeWIH6VLD b. BrBevD C. 2 L 6Vh6VLD

d. wgmeotd e. alewL Oz fuwiealsdensv

According to Valluvar what signifies relationship?

a. people’s body b. good characters

c. good education d. good friendship

e. answer not known

08 RSHH(HHHEO QULTGLD 616l GUGTEHEUT SnpISMBTT?

a. WaHHeMer o L IbL b. Pewmpbs LewILB6i

C. eafoummpbHw sHevall d. Guweitenio GQUTHHAHUWI [BL L]
e. alewL GaMwalsdenso

The concept of 'Judicial Review' was borrowed from

a. UK Constitution b. USA Constitution

c. Weimer Constitution of Germany d. Canadian Constitution

e. Answer not known

"BFH Lewgmuley” SHSHSHIH SITFWevemLoLILNel(HH&H CUBLILILL G
a. @nSleoThal DIFFlUIeVenLoliL b. &Cwfds SFduieoemiori]
C. GeuuioT Ggimpel SyydluleoeLoriL] d. seLr syduevenioliy]

e. alewL Gafwealsvenso

In which case, the Supreme Court considered the effect of the word ‘Socialist’ in the
preamble of the Indian Constitution?

a. Excel Wear V. Union of India

b. M.C. Mehta V. Union of India

c. Kasturi Lal V. State of Uttar Pradesh

d. Kalawathi V. State of Himachal Pradesh

e. Answer not known

AbHw sSFmwilar (Wasliymyuled S bOUBMIeTen ‘FIOSHTOn’ 663 LUSHH T (WdHHWSHHIeIsHamd
Uelleu(bld 6lhdh eUPHHL o FF BHFHwapd FHeleayubsHswg?

a. a1&b0lersd Goum V. @b gevtsluib

b. e1b.A.CushsT V. BhHHu @esmniuwib

c. sevgnfleored V. o s$Arilp8shs op&

d. seomeud) V. @ondgev MiCxs op&

e. allewL  Ggflualsvenso

Which one of the following is a prime number?

a. 184 b.171 c.173 d. 221 e. Answer not known
BIDHHETLUBSIED 6T LIST 616817
a. 184 b. 171 c. 173 d. 221 e. el Oafwalsbensv
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[L78.

[L79.

[L80.

[L81.

[182.

Identify the incorrect match

a. Canada - Advisory jurisdiction of the Supreme Court

b. Australia - Freedom of trade, commerce and inter-course
c. South Africa - Election of members of Rajya Sabha

d. Canada - Nomination of members to Rajya Sabha

e. Answer not known

SHOUDBTET Benertenlld HewIL 1.

SRLT — 2 FFHAABHH6L BHFH LBeorgemen GILIBIZH6ED
He0H G — euenilads SFFHHAHTD, aUTHHHD WLBBID Fnl B SIDTE]
e gifdar — grywgemnu o mlilerseiler GsTgHe0
SHOILT — JTRQWFmUSEG 2 mIlearnmsamen BuLddsHe0

alenL  Gxflwailsoensv

e an o

According to Moseley’s law the frequency of the spectral line in X-ray spectrum varies as
a. Atomic number of the element

b. Square of the atomic number of the element

c. Square root of atomic - number of element

d. Fourth power of the atomic number of the element

e. Answer not known

Gomerved-uileir aldlig X-sHlirseier Siemev Wmemevulle DIFTOeueTT TeMBHLGLITHGSI LOTBILGSBSHI?
a. HANDSHH T Dl 6TewTen6NILl GILIT(HEH S

b. safiws e e eewnienies @b WLBIMSBL CUTHHS!

C. FHANDHH Sl 6l6wTeMwI60T UTHD (PVHMBL! CUT[HSHI

d. selnshHer i eTeneniel BTG LOLRImS CUIhHHSH

e. alewL OFfluwaisdensv

Robert Gallo discovered HIV which causes AIDS in the year

a. 1994 b. 1984 c.1988

d. 1985 e. Answer not known

ymur. BGxBeum eUIlewev o (Hautdh@GHld HIV emaugenervd seniBligdhs Siewilh
a. 1994 b. 1984 c.1988

d. 1985 e. alewL OFflwalsdensv

The reason for Periyar often quoting '"Thirukkural' in his meetings was

a. It was a common conduct code for all humanity

b. He wanted to strengthen his arguments

c. There were many principles in 'Thirukkural' acceptable to Periyar

d. Everyone accepts 'Thirukkural'

e. Answer not known

QufwrT  SleuTHeT  Hogk OCFTBOUTSeysaied HpesGBemen CuBGaTeTHeMTEHd MBUITERIL HBG
SITJENILD

a. 9Ig 2 605 GUIHILMD 6IETLISHTED

b. swumLw QFmBOuMAasE uHTID BFTdbs

C. OQuilwmmenLw HHHHIGHH6T HHBGHMBer60 B)(HHHEMLOWITED

d. HEESBen6n 616060THID GJHBMIBOBTETAITTEGT 6TEILISHTED

e. alewL Ggflualsvenso

The solution that Periyar offered to eradicate illiteracy was

a. A three-month imprisonment for those who did not learn to sign their name in 6 months
b. Schools should be started in every street

c. Education for adults should be started in all schools

d. The teachers should be encouraged with higher salaries

e. Answer not known
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[183.

[184.

[L85.

[L86.

[187.

[L88.

ulupefetenoemul (pBHBeIDd BHésl QuilwnT Gameiter sl

a. 6 LISSIHBGH6T MBOWWHHIS &Ll CuUTLS QFWTHaTHEHHES, 3 LTH FenBEHDHEMIL M6t
OQxrThdbs Gouewr(BLD.

b. eidde aid ueeiser OaTLmE eeGumHEGD LgliLfmalds CBTHHE GouewiBLD.

eTeLeuTL1 UsTefdaflenid (pFHBWITT Hevall 6UGLILE6T BLSHFHLILL  Geuemt(HLd

aFflwiseErsd DHS eaghlud OBTHHH msbGalds GauewiBLD

allewL  OFfweailedensv

o an

The Vaikom struggle was

a. A temple entry struggle

b. Fighting for the rights to the untouchables to walk in streets around the temple

c. Struggle for freedom for the nation

d. Salt sathyagraha

e. Answer not known

meusbsDd GUTTTLLLD eTeiLIg)

a. Gasmuled miempeys Gumym b

b. Gamuiemevs aBf BbhHs CHHBHMB HTDHHLILL L, @BHSBLILLLaITHEHHE [BHLdbs o M
Gsuemng GumymL b

c. Gz alpmpmevlt GumIym LD

d. oy gHHunsHsid

e. alewL Gzflualsdenso

Global Maritime Summit 2023 was held in

a. Chennai b. Kolkatta c¢.Mumbai d. Surat e. Answer not known
o suaenmail SLe0gm] o FHrmpr®G 2023 @60 BHemL OLBBS
a. Gosiemanr b, G&TeLHHHT C. (LpLenLl d. &1s e. alowL OFHflweaisdensv

The least value of x for which 7x 5462 is exactly divisible by 9 is
7x5462 et etewt 960 AU uGSLBLD 6Telled X-65T GHMBHSLIL F &1L
a. 6 b.3 c.9 d.7 e alewr Oxfwaisdensv

According to The World University rankings 2024, the best institute from Indiais ___ .
a. IIT, Madras b. IISC, Bengaluru c. IIT, Bombay

d. lIT, Kharagpur e. Answer not known

2 UF LLEBMLGHS FHTaufleng 2024 et Uy, SbHwmelear FpbH SHeval [HBieUeID
DG LD.

a. lIT, Goeener b. IISC, Qumistmm c. [IT, wwenus

d. IIT, syséur e. alowL O fNuelsvensv

He who does not enjoy the immense riches he has heaped up in his house, is
a. baseness b. Wealth without benefaction

c. Familiarity d. The dread of Mendicancy

e. Answer not known

FLIQUI  QUTHemeT  WTeUJH@GD — LWEILLTOeD  LUgmeudbS Il  LTSHISTUIUS
SIMPSBLILBHBSI.

a. sWemLD b. pemuievGFeveuld C. LI6nLPEMLD

d. ®yeugsid e. alowL O MNuelsdamen

6160 0|

karumaththaal naaNudhal naaNunh thirunhudhal

nallavar naaNup piRa

In this Kural the term Nudhal means

a. eye b. forehead c. lips d. ears e. answer not known
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[L89.

{190.

[L91.

[192.

[L93.

[194.

BHSSTO HTESE BIEAIH HGHISED
BeLevaUT BTamil LI - et @merfled auplD “"HIFH6L” 61688 CFTe0e6T CIIM(HET 6T6dT60T?

a. &eur b. OpBM c. 2 506 d. Qzal e. allewL Oz fuialsdensv
In Berubari case, the Supreme Court observed that the preamble is

a. Not part of the constitution b. Part of the constitution

c. Integral part of the Constitution d. Basic structure of the constitution

e. Answer not known

QuHUTH GUPEPe0 2 FFHAIDGIBLD uPRIS UGN 6TeTEEUTBITD (LPH6|e] 616G
a. 9FlweolIF FULSHHO @@h UGS D660

b. sdwevemoiing gL AT @b LGHGW

C. oIFweoemolIF FULSHHT QHRISmhGHD LG

d. eydlweoemiori s FLLGHIHT SIQLILInL. SIenLDLIL]

e. alewL Gafluwailsbenso

Which among the following ideals in the Preamble to the Constitution of India has been
borrowed from the Russian Constitution?

a. Justice b. Liberty  c. Equality d. Fraternity e. Answer not known
Ueieu@bd  &hHBHISHeMe0 Jgadwl oFweoemwliiedmhbsd OuplLlG  ShIHw  SiFdfluicveniolifes
(WpHeemyuiled L bEUBMIeTeNgl 6157

a. B b. sgpdHrn c gwsHseud d. F8HTHIHSGUD e. alew OzMweaisoeneo

India was described as Land of “unity and diversity’ by whom and where
a. Rabindranath Tagore in Gitanjali

b. Mahatma Gandhi in ‘My Experiments with Truth’

c. Jawaharlal Nehru in ‘Discovery of India’

d. Subash Chandra Bose in “An Indian Pilgrim’

e. Answer not known

@bHwm "CouBpIenoulsd @BBIID HTEMID BTH 616l 6IHhIG WTFTeL 6U(hHewlbalILL L &7
a. geibaImTSH SHTET HOH SHHTEhFelluled

b. warHOT SMHH HogH “FhHw BFTHmenuied

C. :MauskTeomed Ch(h HWH “lgerodeuflent pt Rewrigwim @iled

d. surey FhHIGuTed Hwgd "ok BHHw Ualisl LwewTd

e. allewL  Ggflwalsvenso

The most stable nucleus is
DIFHB HMevSHHeTenD CBTERIL  DIgmIHH(H
He4 b. ” Fe56 U 235 d. % HngG

a.? c. %2 e. alewL OHflwealsdensv

The minerals which help in cardiac functions

a. Potassium and Calcium b. Iron and Calcium c. Zinc and Iron

d. Calcium and Phosphorus e. Answer not known

AW Bussmisellsd Hlenen OQFUILID HelomISH6N

a. QumLrdlund wBpd sTeofund b, by wB®mID &TevdwiD C. HISHSHHTHD OBBID E(HLOLY
d. smeddlwib WBEXID UTerdLITerd e. alewL OHflwealsdensv

Indian Nuclear Power Programme stage-3 aims using 'fuel of the future'.

a. Radium b. Polonium c. Thorium d. Actinium e. Answer not known
OhHU Sigm HBBEL HLLD - Ly — 360 o adiTEme  enflOummenTasl LWeLBhSHSD
SHILLOL (HeiTeng).

a. Gyguunb b. GuinBsvmesiuid c. Gxmflunb d. eydigefuib e. alemL O fwalevenso
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[L95.

[L96.

[L97.

[L98.

[199.

Periyar felt that the original inhabitants of the land were subordinated to the Aryans because
of

Their white skin

Inability to counter their shrewdness

The Aryas established their culture destroying the culture of the original inhabitants

The Arya’s victory in wars

. Answer not known

BhHwmaler LiTouGlpder, SLWTeeEnd@Hs ST DHEHNMTH SLSSUILLL S 61HIMe0  6leorll  GufluwimiT
S(HSBIHBT?

a. gyflwirseaier GeusTenend CoHTaVIshE LOWMISILIGS

b. eyfwiselear gmids WwWHMW CIHTEBTETEN (LPIQUITENLD

c. oflwitsel, YTeaugysellear SseomTFamysHms bbdldH SRBEHMLU HOTFFTIHMSL LGHSHH e L 6.
d. sylwirsefer Gumitdsen Geumns

e. alewL Ggflualsvenso

e oan o

The Justice Party leader who made a legislation that no knowledge of Sanskrit was required
for the study of Medicine, thereby releasing the Medical Education from the English to the
Tamils, was

a. The king of Panagal b. The king of Bobbili c. A.B.Bathro

d. A. Subbarayalu Reddi e. Answer not known

LHSSHN  LUQLILESF  FoavdheD URsHHHds  Bhmeuulsvoenev elemp  QuflwnT  &mHmS
apemenTs LIpliss bHobsl g SHemeveulT wimr?

a. LeH6eD SJSFT b. Gumnied oyyair c. .. ursGym

d. g. siuymwey (QLig) e. alowL OFfueisvenso

Name the 96th Chapter of Kural

a. The Zeal b. Evils of Killing c. Nobility
d. None of these e. Answer not known

Hmb@merfled 966Uz DIFHSTID 61517

a. 2ETHEH(LPENL GMLD b. G&mevevmenio C. GlgemID
d. simenmLemi e. alowL Oz fNuelsvensv

Which of the among the following is not other name of Thiruvalluvar?

a. Perunavalar b. Navalar c. Devar
d. Deivapulavar e. Answer not known

Leteu(heussteuBmie  Slmeusiiemeuflenr Gouml GQUIWITH6T DleEOTHHI 6157

a. QU(BHBTEUCOT b. ®reueuT c. Gxeut
d. Gsuieulijeveu e. el GaMuwalevemev

Emergency Provisions comes under which part of the Constitution of India.

a. Part XV b. Part XVI c. Part XVIII
d. Part XVII e. Answer not known

SIUF] Hlemev UBBIL UTFSRISET 6bHL LUGHuler S eurmHb?

a. ugdh XV b. ugad XVI c. uggd XVIII
d. uggh XVII e. alewL Oafwealsbenso

Find out the wrong number in the sequence: 9,13,21,39,69, 133

Leiteu(hld OHTLTeuflenaFuled HeumTenr 61681 61631601

9,13,21,39,69, 133

a.39 b.13 c.21 d. 69 e. alewL OxfNweaisdensv
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